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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 7368156667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Convert 57 into a binary number.
Options:

1 % 100001
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2

2 % 100110
4 v 111001

Question Number : 1 Question Id : 7368156667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
57 " SISl §EAT § giEfad #
Options:

1 % 100001
> % 110011
z % 100110
4 v 111001

Question Number : 2 Question Id : 7368156668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The number of prime factors in (4)" x(7)¥x(15) is :
Options:

1 ® 86

o o &1

T W 02

EE 00

Question Number : 2 Question Id : 7368156668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
(4P x(7)Px(15)° / eq=T IOThI T TE&T ___ &

Options:

1 #% 86
> o 81
3. % 92
4. % 90

Question Number : 3 Question Id : 7368156669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What least value must be assigned to * so that the number 500%329 is divisible by 97

Options:
1. ¢ 8

2_%9
3_%[}

g % 1
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

- ¥ B FlF o 79 ¥ F7 7Go9 @ s =fge, @i @@ 500+329, 9
" &= g

Options:

1 ¢ 8

> % 9
z % 0
4. % 1

Question Number : 4 Question Id : 7368156670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Compute: 1231 x 9999 +1231.

Options:
, ® 1239991

> % 12319999
5 « 12310000
4 % 12300000

Question Number : 4 Question Id : 7368156670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

IOTAT L 1231x9999 +1231
Options:

1. % 1239991

> % 12319998
=« 12310000
4 % 12300000

Question Number : 5 Question Id : 7368156671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Find the units digit in (2015)°% + (201
Options:

1 % 8

o % 4

3¢ 0

4 % 9

Question Number : 5 Question Id : 7368156671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

(20155 + (201" H ShIS FT 37F AT HY

visit this website studytosuccess.in



Optioﬂgin Telegram More Update Note: All previous year Exam paper provides
1. % 8
o % 4
3¢ 6
4 % 9

Question Number : 6 Question Id : 7368156672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Compute: 512 x 625+625.

Options:
1 % 326025

> % 360025
5 % 320065
4« 320625

Question Number : 6 Question Id : 7368156672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

AT F - 512 x625+625.
Options:

1. ® 326025
> #% 360025
3. % 320065
4.« 320625
Question Number : 7 Question Id : 7368156673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
; R : 2 T
Lawrence studies for 7 i hours daily. He devotes 1 - hours of his time for
Science. How much time does he devote for other subjects?

Options:

Question Number : 7 Question Id : 7368156673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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7 e HeTTT LT gl 98 AT & 1=

o 0T T &aT ¥l 98 317 awat #r fhaar 98T &ar &2
Options:
b 6;—2 e
6~ e
Sﬁef—ﬂt‘r{?
, 6= T

4.

Question Number : 8 Question Id : 7368156674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Bhavesh and Hitesh together bought a water bottle that contained 8 ! litres

3 giin
of water. Bhavesh consumed i of the water. Remaining water was

consumed by Hitesh. Find the amount of water consumed by Bhavesh in
litres?

Options:
i % “TAsE

> « 6.375L

Question Number : 8 Question Id : 7368156674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

gmrer T B & Ty e = fr v g @il SEd 81 dew
m?ﬁmtsmﬁ@marﬁrj— oTAT | SR T areEr T & R s

o For faraa ST 9r=r T

Options:

| ® 7.15 &frex
> « 6.375 oY
= % 6.5 ®eT

4 % 7.55 =eT

Question Number : 9 Question Id : 7368156675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Arthi. Bhavana. Sneha and Devi finished coloring a picture in ; hour, 3 hour. = hour

e

and % hour respectively. Who among the following finished their coloring first?
Options:

1 % Sneha

- % Arthi

= % Bhavana

4 « Devi

Question Number : 9 Question Id : 7368156675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

HRAY, 9T, T 3R &3 F FHA % E%% e, ]E *r:r?:sﬁﬁ'\rl1
U H dER # T IR+ & F F GAT | =g d @
fora= Ugel T 9 F1 F1 AT fFar?

Options:

1_%3W
g_ﬁm
z # HATIAT

4.6—"‘3_‘“'

Question Number : 10 Question Id : 7368156676 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which among the following is the smallest?

g 1.1
e kT e

Options:

oo | L

A

2
#®
h|w da| =1 o wh

13

4 % 15

Question Number : 10 Question Id : 7368156676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

o | L

1 W

Lh | o | —

—t
Lid

b
®
[y
L

Question Number : 11 Question Id : 7368156677 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The difference of two mumnbers is 13 and one-fifth of their sum is 11. Find the smallest
number.

Options:

1 & 5

o R

| S T S-S
Ln e wn

= o

4 %

—

Question Number : 11 Question Id : 7368156677 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

a1 TEITH F HA 13 AN IAF a0 w - ewwr 11 €, wEE orlr we
AT FY

Options:

1. % 35

> #% 45

z o 21

4 % 15

Question Number : 12 Question Id : 7368156678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The difference between a number and its three-fifth i1s 6. What is the number?

Options:
1 *® 18

- R 20
= % 16

4 ¢ 15
visit this website studytosuccess.in
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Question Number : 12 Question Id : 7368156678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

WW%WS#WWWB%E Ig &7 4T 82
Options:

1 % 18

2 % 20

z % 16

4« 15

Question Number : 13 Question Id : 7368156679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Find the value of (=3)°x(3)7 = (2)
Options:

1 % 32

> o =32

=z % =27

4 % -108

Question Number : 13 Question Id : 7368156679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
(3P x(3)" x(2)° T AT AT Y

Options:

1% 32
> o -32
z # =27
4 % -108

Question Number : 14 Question Id : 7368156680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If 44X7-2Y65=1832. then which of the following should come in place of X?

Options:
1 ® 5

o o

o R

D

Cad

4 ®

Question Number : 14 Question Id : 7368156680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 15 Question Id : 7368156681 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
(<31+3<m +(531-350)*
531x531+ 350350

Solve

Options:
1 2
> % 5648
= % 0245
4 % 8542

Question Number : 15 Question Id : 7368156681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ol =Y (531+350)° +(531-350)°
531x531+350%350

Options:
1.9 2

2 ® 5648
3. % 6245
4 % 8542

Question Number : 16 Question Id : 7368156682 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The present salary of Mahesh is Rs.15300. This will be increased by 7.5% in the next year.
What will be the increased salary of Mahesh?

Options:
1 ® Rs.16900.5

-~ % Rs.16850.5
= o Rs.16447.5
4 % Rs.16950.5

Question Number : 16 Question Id : 7368156682 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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AL FT aﬂ:ra15300%| v THH 7.5% Fr i |
iﬁ#mmrmwgm&dﬂ TohaaT grem?

Options:

. % ¥ 16900.5

, % . 168505

. v T. 164475
4, % T. 16950.5

Question Number : 17 Question Id : 7368156683 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In an examination, 97% of the candidates passed and 600 failed. How many candidates
appeared for the examination?

Options:
; ®% 13500

> % 14000
s % 12000
4 « 20000

Question Number : 17 Question Id : 7368156683 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T T H 97% et 3o gU R 600 3fecor gU| TeT H fhae
gqiremreff &% o9

Options:

1. % 13500
> # 14000
z. % 12000
4 + 20000

Question Number : 18 Question Id : 7368156684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What percent of 2 Y2 hours 1s 360 seconds?

Options:
1 ® 3.5%

o B 58

2 4%

Question Number : 18 Question Id : 7368156684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25 visit this website studytosuccess.in
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Options:

1. % 3.5%
o % 2%
2« 4%
4 % 25%

Question Number : 19 Question Id : 7368156685 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Express 40 paise:2 rupee 80paise in its simplest form.
Options:

1 ® 1:8

> % 81

z o 1.7

4 ® 54

Question Number : 19 Question Id : 7368156685 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

40 99 : 2 % 80 YW Fr SUF TITAH T H AT
Options:

1. % 1:8

> % 81

C ol b

4 #% 54

Question Number : 20 Question Id : 7368156686 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Two numbers are in ratio 6:7. If 3 is subtracted from each. the ratio becomes 5:6. Find the
largest number.

Options:
1 ¥ 21
> % 30
= % 24
4 ® 20

Question Number : 20 Question Id : 7368156686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
ar 3 6:7 F U H g I I heF A ¥ 3 "I AT, A HAT 5:6 &
AT &) TEY 99 & AT H
Options:
visit this website studytosuccess.in
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> % 30
z % 24
4 % 20

Question Number : 21 Question Id : 7368156687 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A bag contains 5Opaise, 25paise and 10paise coins in the ratio 6:4:3 amounting to
Rs.129/-. Find the number of 10paise coins.

Options:
1 % 83
2. ¢ 20
= ® 95
4 % 87

Question Number : 21 Question Id : 7368156687 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ve dor & 50 99, 25 %7 3R 10 9 F Ha FHAM 6:4:3 & IS H §
TSIehT FeT AT T.129 2] 10 99 & haent 1 w&am A9 &

Options:

1 #% 83
= o 90
z % 95
4 % 87

Question Number : 22 Question Id : 7368156688 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the average of 320.240,125,205.110.

Options:

1 ® 450
> % 1225
3 « 200
4 ® 244

Question Number : 22 Question Id : 7368156688 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

320,240,125,205,110 =7 3itga AT F|
Options:

1. % 450

> % 1225
visit this website studytosuccess.in
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4% 244

Question Number : 23 Question Id : 7368156689 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The average of 5 quantities is 9. The average of three of them is 9. What is the average of
remaining quantities?

Options:
1 % 8
> # 15
T W 42
4.« 9

Question Number : 23 Question Id : 7368156689 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

5 iferat & 3twa 9 &1 398 ¥ 3 ufery & w9 &, ar ow uierar &
staa frgar gem?

Options:
1. % 8

> % 15
z % 42
4. ¢ 9

Question Number : 24 Question Id : 7368156690 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The average monthly income of X and Y is Rs.4500. The average monthly income of X
and Z is Rs.3500 and the average monthly income of Y and Z is Rs.4000. The monthly
income of X is?

Options:

1 #% Rs.4500

~ % Rs.3500
- % Rs.3125
4 + Rs.4000

Question Number : 24 Question Id : 7368156690 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

X 3 Y #r 3itma 31f@s 37 T 4500 & X 3k Z #r e s
¥. 3500 ¥ 3fiT Y 3y Z Fr itwa afes 3@ 7 4000 & X Fr 3iwa
ATTOF 3T Faar 87

Options:

visit this website studytosuccess.in
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> % T. 3500
5 % T. 3125
. v ¥ 4000

Question Number : 25 Question Id : 7368156691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the amount at simple interest on Rs.4700 for 3 years 6 months at 10% per annum.

Options:
1 # Rs.6500

> o R5.0345
= % Rs.6800
4 % Rs.6900

Question Number : 25 Question Id : 7368156691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

10% 9fa 99 FrIRUT =O1f T T ¥ 3 I¥ 6 AT H T. 4700 v ufer
ERGIRIRSINE

Options:

1. % T, 6500
> « T, 6345
z % T, 6800
4 % F. 6900

Question Number : 26 Question Id : 7368156692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Simple interest on a certain sum is % of the sum. Find the time. if both time and rate
percent are numerically equal.
Options:

1

years
1 %

b |

5 o Syears

5 % Zyears

=]

4 %

Fedars

-

[

Question Number : 26 Question Id : 7368156692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

visit this website studytosuccess.in
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v fARTT TR W FraRoT &1 39 Ui & - gl

3R gX wfawa gl FEaER v §AW g, df 3 AT &

Options:

1L a§
1 & 2

>« 5 ay
3 % 2 99

2- 3§

4 %

Question Number : 27 Question Id : 7368156693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Simple interest for a sum of Rs.5900 for 2 years is Rs.65 more than the simple interest for
Rs.5400 for the same duration. Find the rate of interest.
Options:

Question Number : 27 Question Id : 7368156693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

2 Iy & foT % 5900 Fr ufer 9v 9reg @ramor A= =@ afY ¥ Qv
T. 5400 WX 9T~ WURUT &0 ¥ T. 65 FImer g a1 I g7 AT Y|

Options:

1.+ 6.5%
2. % 5%
z % 4.5%
4. % 3%

Question Number : 28 Question Id : 7368156694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A watch costing Rs.1000 has been sold for Rs.1300. The percentage of profit was?

Options:
1 ® 24%

> % 25%
2 « 30%

4 % 20%

visit this website studytosuccess.in
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

%.1000 Fr FETT Frer TEr FT F. 1300 H F=T TAT| T F ST aer are?

Options:

1 % 24%
> % 25%
3 ¢ 30%
4 % 20%

Question Number : 29 Question Id : 7368156695 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Aparna sells a washing machine for Rs.7200. She loses 60% in the bargain. What was the
price at which she bought it?

Options:
; % Rs.19000

> % Rs.20000
5 % Rs.21000
4 « Rs.18000

Question Number : 29 Question Id : 7368156695 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

IO F %.7200 F T T #@f 4 3° 59 Wi F 60% F FHAE
g3T| 30 ¢ FoFE FET | TEr o6

Options:

1. % ¥. 19000
> % ¥. 20000
= % T. 21000
4 ¢ F. 18000

Question Number : 30 Question Id : 7368156696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Sanjana bought an article for Rs.5652. Due to some defects in it. she had to pay Rs.348 to
the mechanic for its repair. Then. she sold it for Rs.5500. Find her loss percent.

Options:
1 % 8.5%

Question Number : 30 Question Id : 7368156696 Question Type MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
visit this web5|te studytosuccess.in
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Tl & U aFg &1 . 5652 H TSN 3uH e & & FoT, 3HA g
AT & v S%fas = T 348 f@v] ™ 30« 3§ %, 5500 H =7 2

38 fhder qfderd Jhar gamm?

Options:

1. % 8.5%
> o 8.33%
3. % 5%

4 % 7.5%

Question Number : 31 Question Id : 7368156697 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
An item is sold at Rs.510 by allowing a discount of 15% on its marked price. The marked
price of the item is:

Options:
1 ® Rs.700

-~ % Rs.590
= % Rs.650
4 « Rs.600

Question Number : 31 Question Id : 7368156697 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TF TG H SHA Hieha HHAT W 15% F BT ST T. 510 F =7 7147
TFg 1 e FAa G 2

Options:

1. % %. 700

> #% ¥ 590

2z ® %, 650

4 « F. 600

Question Number : 32 Question Id : 7368156698 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is a single discount equivalent to a discount series of 14% and 13%?

Options:
| % 24.5%
3

o B 3.
o o i 2
4 ® 20%

Question Number : 32 Question Id : 7368156698 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Oplipg ¥ ighipdolv&BEi¥e studytosuccess.in
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14% 3R 13% & T 4T & FAWT THA BT 4T 87

Options:

1. % 24.5%
o % 23.44%
3. ¢ 25.18%
4 % 26%

Question Number : 33 Question Id : 7368156699 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The marked price of a bicycle is Rs.1710. A shopkeeper allows a discount of 14% and get
a profit of 14%. Find the cost price of the bicycle.

Options:
1 ¢ Rs.1290

-~ % Rs.1000
= % Rs.900
4 % Rs.950

Question Number : 33 Question Id : 7368156699 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

v ®Efae # 3fea FAa T 1710 §1 UF gFEER 57 W 14% # g
aar g, & 38 14% =T Fear &1 el fr o Fag Ja +1

Options:

1+ ¥.1290
> % ¥.1000
= # ¥.900
4 % F.950

Question Number : 34 Question Id : 7368156700 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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The below graph shows the percentage distribution of total
expenditure of a company.

25
20
i5
10

| .

i)

2 & ] 2 £ &
o L;;P{M A3 & & P o
< {ap & &5 n“\“
'-13'% BN é&e’ @é
g 5
s &
R

If the total expenditure is Rs.15.00.000, then what amount is spent on
R&D?

Options:

; % Rs.70.000

» « Rs.75.000
5 = Rs.74.000
, # Rs.73.000

Question Number : 34 Question Id : 7368156700 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

visit this website studytosuccess.in



Join Telegram More Update Note: All previous year Exam paper provides
IT ATH F CAF F FJTTA FL TeAtfET TEE T
gl

A & AT AME T FA F P T 1 Aaor gfaed 7 geiEr maw gl

25
20
15
10
5 I .
u i
& & 5 & ) &
& & < ¢ i PO
,g} P &f o
& vy‘q' \$
LA
&

ofE For 7T %.15,00,000 &, & IFHU va era (R&D) X fFraer afer
T A TS 72

Options:

, % ¥. 70,000
, « . 75,000
- % T. 74,000
, % . 73,000

Question Number : 35 Question Id : 7368156701 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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The below graph shows the percentage distribution of total
expenditure of a company.

25
20
15
10

| .

0

z ol =5 2 £ P
¢§ 4:5‘""0(& <@ ¢$ & & &
G & F
& S &
s &
R

If the total expenditure is Rs.1,50.000, then what amount is spent on
salary?

Options:

; = Rs.45.000

> % Rs.40,000

- % Rs.35.000

. v Rs.30.000

Question Number : 35 Question Id : 7368156701 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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T =7 %. 1,50,000 7, & 3a (Salary) ¥ et ufer @=r #r 15 22
Options:
. % T. 45,000
. % ¥ 40,000
- % ¥ 35,000
4 v . 30,000

Question Number : 36 Question Id : 7368156702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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The below graph shows the percentage distribution of total
expenditure of a company.
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The company uses its maximum expenditure on which of the following?

Options:
1 # Taxes

o o Salary
z # R&D
4 % Transport

Question Number : 36 Question Id : 7368156702 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
i w L (Taxes)

.  3a (Salary)
i HFEU v f§eH (R&D)

=

, » A9 (Transport)

Question Number : 37 Question Id : 7368156703 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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The below graph shows the percentage distribution of total
expenditure of a company.
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If the total expenditure is Rs.8.50.000, then what amount is spent on
transport?

Options:

; % Rs.1.07.250

»  Rs.1.06.250
- % Rs.1.06.350
. % Rs.1.07.350

Question Number : 37 Question Id : 7368156703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

, % % 1,07,250
» » %. 1,086,250
. % %. 1,08,350
, % % 1,07,350

Question Number : 38 Question Id : 7368156704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

visit this website studytosuccess.in



studP e SR AR A R SRR o MRS EE M R IR R RN 53am paper provides

The below graph shows the percentage distribution of total
expenditure of a company.
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If the total expenditure is Rs.8.50.000.t hen what amount is spent on
advertisements?

Options:
; %= Rs.1,27,000

- % Rs.1.28.000
- « Rs.85.000
, % Rs.1.28.500

Question Number : 38 Question Id : 7368156704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

. % ¥ 1,27,000

. = T. 1,28,000

- « ¥. 85,000

4 % . 1,28,500

Question Number : 39 Question Id : 7368156705 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The area of a square field is 12—1 hectare. Find the length of its diagonal in metres.

Options:
1 ® 50mits

5> « 100-/11mts

= % 40mts
4 % 25mts

Question Number : 39 Question Id : 7368156705 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
100 Ji1 AT

Question Number : 40 Question Id : 7368156706 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The area of an equilateral triangle is 36+3cm°. Find the length of its side.
Options:

1 & dem

o> o 12cm

= % 445cm

4 % 14.25cm

Question Number : 40 Question Id : 7368156706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

UF HHS THRIOT FT &TIBA 363 TN AL g1 FHEN o= H TG A
|

Options:

. % 4 .

v 12 T8

3 % 4.45 B,
4 % 14.25 W.#Y

Question Number : 41 Question Id : 7368156707 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The diameter of the wheel of a car is 14cm. How many revolutions will it make to travel
1.1km?
Options:
1« 2500

> % 6000
s % 6500
4 % 4500

Question Number : 41 Question Id : 7368156707 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
visit this website studytosuccess.in
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ag FLEM?

Options:

1. ¢ 2500
> % 6000
3. % 6500
4 % 4500

Question Number : 42 Question Id : 7368156708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A car travels 750km in 12hours and another 550km in S8hours. Find the average speed of
the car.

Options:
1 % 52km/h

> % 59%m/h
z % S55km/h
4 « 65km/h

Question Number : 42 Question Id : 7368156708 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TF FR 12 ¢ H 750 A HR 3 8 wE F 3w 550 R Fr gl 7w
FTT &1 FX Fr sitET T = T FY

Options:

1 % 52 fRA/Ee
> % 59 A /ae
3 » 55 fr A /me

v 65 TR /ae

Question Number : 43 Question Id : 7368156709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A vehicle travels at 75km/h. How many meters will it travel in 16minutes?

Options:
1 % 18550mts

> % 19520mts

= o 20000mts

4 ® 19850mts

Question Number : 43 Question Id : 7368156709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

1. % 18550 HT.
> % 19520 #I.
= « 20000 #.
4 % 19850 #I.

Question Number : 44 Question Id : 7368156710 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Ajay can cover a certain distance in 2hr 40min by covering two-third of the distance at

4kmph and the rest at Skmph. Find the total distance.

Options:
1 % 11.32km

> % 11.5km
3 « 11.42km
4 % 11.6km

Question Number : 44 Question Id : 7368156710 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

HoT v ARET gfr 2 "er 40 BFe # a7 war § T ¥ e
4 T mer & ofg ¥ 3k 9w g 5 B me f afy § T e g

FoT U AT FL

Options:

1% 11.32 R
> % 11.5 fF.ar.
z v 11.42 &
4 % 11.6 BR.AT

Question Number : 45 Question Id : 7368156711 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Rasi takes 14minutes to reach school from home. Rupa takes 10minutes to cover the same

distance. Find the ratio of time taken by Rasi to the time taken by Rupa.

Options:
1 % 5:2
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Question Number : 45 Question Id : 7368156711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

TH B ¥ Thd Tk Héﬂﬁ é?ﬁ»’l‘ﬂ'Mﬁ[ﬂE?!T—ff?‘lW%?ﬁﬁéTqﬁﬁm
F= & AT 10 fBee o &1 o # w7 a@nr B o1 gag #v s
AT FI

Options:

1. ® B2

o o 15

3 ® 73

4 ® B:7

Question Number : 46 Question Id : 7368156712 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Karishma works in office for 6hours 20minutes and Anjali works for 6hours in her office.

Find the ratio of their working hours.
Options:

1 ® 14:15

> % 15:14

= % 13:15

4 o 19:18

Question Number : 46 Question Id : 7368156712 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

FAT FOTET F 6 T 20 Aae HR 3=ET 6 9 FH FGAT g1 3% FH
* TS F HFUIT H AT HL

Options:

1 % 14:15

> % 15:14

5 % 1315

4 « 19:18

Question Number : 47 Question Id : 7368156713 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The ratio of times taken by A and B to finish a piece of work is 1:4. If A completes the

work in 14days. then find the time taken by B to complete the work.
Options:
. % S2days

> % 45days
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4  S6days

Question Number : 47 Question Id : 7368156713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

s FHH F W FA & AT A 3R B garr & a1v R&AT &7 agea 1:4 2
e A 58 F1HF 1 14 AT & 0 Far & aF B 37 F1H & fas G A
T FHL?

Options:

. % B2 '&eF
- % 45 e
- % 48 &=
4 v 56 fe=

Question Number : 48 Question Id : 7368156714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Veda can do a work in 5days and Vani is 30% more expert than Veda to complete the same
worlk, then find the total time taken to complete the work by Vani.

Options:
5ld¢'{1-‘3

{ R 2
EEdqu

2 % ddayvs

4 % bdays

Question Number : 48 Question Id : 7368156714 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

3T TF FH H 5 GHA F Q@ F WeFar ¢ AR J0T 3T FIH Fr A9 A
AT H 30% TS S&TAT § G T Wbl g| ar A & $8 F1H & 90
T H Fol fhaa & sEE

Options:
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

If A can do a piece of work in 9days. B can do the same in 6days and C can do the same
work in 21days. then working together, how many days will they take to complete the
work?

Options:

Question Number : 49 Question Id : 7368156715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

g A, 9 AT F TF FH F T T TaaT ¢, B 38 FH Fr 6 e A
HR C, 21 fGaT & W T Fhal &, T 38 THATY FH W FH F @
= H Fas a7 a9
Options:
w2 R
> % 9 foa

31 ==

= ﬁ? 41

Question Number : 50 Question Id : 7368156716 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
45 men can complete a work in 15days. 5days after they started working. 10 more men
joined them. How many days will they now take to complete the remaining work?

Options:

2
8—days
1.9
ﬁlda}w
o ® 5

?Edﬂ'_l'.ﬂ‘
2 ® 3
Sldﬂ}'ﬂj‘
4 ®

Question Number : 50 Question Id : 7368156716 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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4 %
English Language

Section Id : 736815132

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 32

Number of Questions to be attempted: 32

Section Marks: 50

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 736815198
Question Shuffling Allowed : No

Question Id : 7368156717 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (51to 60)
Juestion Label @ Comprehension
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Reattie pacsage ven Defow Bl daswet the questions that Tollow it by thobake mE by des

option for each:

‘The aggressive first person’ has taken over our public space. We're having too many mys
thrust upon us these days. An example of the aggressive first person is this on the bag in
my hand: ‘I’'m a renewable bag. I'm made with natural fibres so I"m great for the
environment and gorgeous.” ‘How sweet,” we’re meant to think, ‘that a hessian bag can
talk to us and say such adorable things about itself! I'll definitely start using one of those
bags now.” The words are always written in a fale-childish font to add to the cuteness.
They make you feel horribly patronised and preached-at. The people in head office have
obviously decided that. although they. the intelligent ones, understand all about saving the
environment, if it’s to get across to thick us. they’ll need to put it in baby language. The
fact that they think this is gently. lovably humorous also depresses me about the state of
our sense of humour.

More and more of what we do doesn’t involve any human contact. We’re on our own,
running our lives at our screens. and we’re being lulled into a sense of being loved, cared
about and important. But it is a false sense. No one loves us and nothing much is ours. I
prefer the more honest second person in YouTube: less invasive. But the me-camp is
winning. When the next general recruits his army and navy to fight the world war. the
poster luring us to certain death will say ‘My Country Needs Me” — not “Your Country
Needs You.’

Sub questions

Question Number : 51 Question Id : 7368156718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
An apt title for this excerpt will be
Options:

, w The First Person in the Public Sphere

-  The Invasive First Person in the Public Sphere

= % DBe Honest: You Don’t Want *Me’

4, % The Dehumanized use of I. Me and My

Question Number : 52 Question Id : 7368156719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The writer sets the tone and agenda of the excerpt in his first sentence. which is

Options:
, % todescribe the changes in our public sphere
-  tocomplain about the changes in our public sphere

- % toargue for changes in our perception of the public sphere

, % toanalyze the state of affairs in our public sphere

Question Number : 53 Question Id : 7368156720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The example of the hessian bag

Options:
visit this website studytosuccess.in
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- % illustrates the use of baby-language
- % shows how things become ‘people’ in the hands of ‘clever” people

4 « Treveals our possible reaction to the dominating. intrusive ‘T’

Question Number : 54 Question Id : 7368156721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

We are ‘running our lives at our screens’ refers to
Options:

, % the dominating effect of computer screens

- % Inanaging our routines by relying on computers and the “Net
-  the impersonal public sphere we experience daily in our lives

, % how. using screens. we have insulated our lives against reality

Question Number : 55 Question Id : 7368156722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
“But it is a false sense.” The writer is referring to in and through this

Options:

, % the presence of human personal contact in the *artificial world’

- » theuse of I in the Internet public sphere to promote a sense of belonging
-  that there are people to love and care for us on the other side of the *screens’

, % tothe sense of belonging I. ‘my” and ‘me’ promote when used repeatedly

Question Number : 56 Question Id : 7368156723 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The message in “My Country Needs Me” is related to

Options:
, « theextreme sense of patriotism that war-time brings about

- % theuseof “I" even in matters of national concern to ‘dupe’ us

= % how the world has become less honest and more invasive
4 % War-time posters for recruiting soldiers for the army

Question Number : 57 Question Id : 7368156724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Imagine a yoga-master instructing a group of rich people. He or she will say. according to
the writer.

Options:

, % ‘Now:. hold your breath’

5 « ‘Now. let’s hold our breath’
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4 % ‘Now. they will hold their breath’

Question Number : 58 Question Id : 7368156725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The features of the hessian bag that irritate the writer are:

Options:

, % the nature of the bag and the nature of font employed in the words

what the authors of the words on the bag assume to be the level of intelligence of the
> # readers

5 % the dominating first person even on the bag and fake-childish font employed

the choice of the medium, the choice of the words and font and the assumptions underlying
4 o all

Question Number : 59 Question Id : 7368156726 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In ‘if it’s to get across to thick us’, thick describes ‘us’ and means
Options:

, % stupid

- o insensitive
3z % dull

4 % fat

Question Number : 60 Question Id : 7368156727 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The synonym for ‘invasive’ as used here is
Options:

, % Aaggressive

- % offensive

3 o infrusive

4, % disturbing

Question Id : 7368156717 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (51 to 60)
Juestion Label - Comprehension
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Read the passage given below and answer the

questions that follow it by choosing the best option for

each:

‘The aggressive first person’ has taken over our public
space. We're having too many mys thrust upon us
these days. An example of the aggressive first person
is this on the bag in my hand: ‘I'm a renewable bag.
I'm made with natural fibres so I'm great for the
environment and gorgeous.” ‘How sweet,” we're meant
to think, ‘that a hessian bag can talk to us and say
such adorable things about itself! I'll definitely start
using one of those bags now.” The words are always
written in a fake-childish font to add to the cuteness.
They make you feel horribly patronised and preached-at.
The people in head office have obviously decided that,
although they, the intelligent ones, understand all about
saving the environment, if it's to get across to thick us,
they’ll need to put it in baby language. The fact that
they think this is gently, lovably humorous also
depresses me about the state of our sense of humour.
More and more of what we do doesn’t involve any
human contact. We’re on our own, running our lives at
our screens, and we're being lulled into a sense of
being loved, cared about and important. But it is a false
sense. No one loves us and nothing much is ours. |
prefer the more honest second person in YouTube: less
invasive. But the me-camp is winning. When the next
general recruits his army and navy to fight the world
war, the poster luring us to certain death will say ‘My

Country Needs Me’ - not “Your Country Needs You.’

Sub questions

Question Number : 51 Question Id : 7368156718 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 025 visit this website studytosuccess.in
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Options:

. = The First Person in the Public Sphere
» « The Invasive First Person in the Public Sphere

3. # Be Honest: You Don't Want ‘Me’
4 % The Dehumanized use of |, Me and My

Question Number : 52 Question Id : 7368156719 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The writer sets the tone and agenda of the excerpt in his first

sentence, which is
Options:
. = to describe the changes in our public sphere

> « to complain about the changes in our public sphere
- % to argue for changes in our perception of the public sphere

4 » to analyze the state of affairs in our public sphere

Question Number : 53 Question Id : 7368156720 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The example of the hessian bag

Options:
; = brings out the abuse of the first person

> % lllustrates the use of baby-language
- % shows how things become ‘people’ in the hands of ‘clever’ people

4 « Freveals our possible reaction to the dominating, intrusive ‘I

Question Number : 54 Question Id : 7368156721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
We are ‘running our lives at our screens’ refers to

Options:
; = the dominating effect of computer screens

- % managing our routines by relying on computers and the ‘Net
- « the impersonal public sphere we experience daily in our lives

4 % how, using screens, we have insulated our lives against reality

Question Number : 55 Question Id : 7368156722 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
“‘But it is a false sense.” The writer is referring to in and through this

Options:
, = the presence of human personal contact in the ‘artificial world’

the use of | in the Internet public sphere to promote a sense of

> » belonging
visit this website studytosuccess.in
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z « 'screens’
to the sense of belonging |, ‘my’ and ‘me’ promote when used

4 » repeatedly

Question Number : 56 Question Id : 7368156723 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The message in "My Country Needs Me’ is related to

Options:
» the extreme sense of patriotism that war-time brings about

» » the use of “I' even in matters of national concern to ‘dupe’ us

= # how the world has become less honest and more invasive
4 » war-time posters for recruiting soldiers for the army

Question Number : 57 Question Id : 7368156724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Imagine a yoga-master instructing a group of rich people. He or she

will say, according to the writer,
Options:
; % Now, hold your breath’

5 « Now, let's hold our breath’
= » Now, I'll hold my breath’
4 % Now, they will hold their breath’

Question Number : 58 Question Id : 7368156725 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The features of the hessian bag that irritate the writer are:

Options:
; = the nature of the bag and the nature of font employed in the words

what the authors of the words on the bag assume to be the level of
> w Intelligence of the readers

the dominating first person even on the bag and fake-childish font
= » employed

the choice of the medium, the choice of the words and font and the

4 « assumptions underlying all

Question Number : 59 Question Id : 7368156726 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

In ‘if it's to get across to thick us’, thick describes ‘us’ and means
Options:

, = stupid

v insensitive
= visit this website studytosuccess.in



5 $3Jam Telegram More Update Note: All previous year Exam paper provides

4 % fat

Question Number : 60 Question Id : 7368156727 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The synonym for ‘invasive’ as used here is

Options:

| = aggressive
> # offensive
3 « intrusive

4 % disturbing

Sub-Section Number: 2
Sub-Section Id: 736815199
Question Shuffling Allowed : No

Question Id : 7368156728 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (61 to 70)
Cuesticon Label | Comprehension

Given below is a passage with ten blanks. numbered from 11 to 20. Fill in the blanks by
choosing the correct option given against the corresponding question number:

The idea that technology would deal a fatal blow to the watch. simply hasn't panned out.
Men now own mobile phones and BlackBerrys as well as, not (11), their
timepieces. Watches are one of the (12) items that a man can wear that he

(13) display true character, signal that he is a (14) of a particular
club — whether it's an Audemars Piguet or a Swatch — and (15) in a little dose
of extravagance (16). generally, drawing criticism. Watches are the
(17) face of male jewellery: bangles can be (18). signet rings
dodgy. ear studs a no-no and (19) chains risible. A Rolex or a Jaeger LeCoultre,
however, (20) it's gold. platinum or stainless steel. is viewed as wholly
acceptable.

Sub questions

Question Number : 61 Question Id : 7368156729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the corresponding question
number:

Options:

, = excluding

> % including
= « instead of

4 % because of

Question Number : 62 Question Id : 7368156730 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25 visit this website studytosuccess.in
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Fill in t?le ‘tﬁan]?s gy cﬁgomng 1€ correct option given agamst tﬂe correspon 1gpque§{mn

number:
Options:

1 o few
5 % mnany

3 % little
4 % rare

Question Number : 63 Question Id : 7368156731 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding question
number:

Options:

1 « believes

> # reveals

%z % holds

4 % understands

Question Number : 64 Question Id : 7368156732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding question
number:

Options:

1 % follower

- % servant
= % 1aster

4 « member

Question Number : 65 Question Id : 7368156733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding question
number:

Options:

;| = enjoy

> % ftreat

-  indulge

4 % consume

Question Number : 66 Question Id : 7368156734 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the corresponding question
number:
Options:
1 « without
visit this website studytosuccess.in
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o % IeMOvINg

- % deleting
4 % obviating

Question Number : 67 Question Id : 7368156735 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding question
number:

Options:

, % public

- % private
- % dispensable

4 acceptable

Question Number : 68 Question Id : 7368156736 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding question
number:
Options:

| v My

- % dangerous

5 % untrustworthy
4 % lisque

Question Number : 69 Question Id : 7368156737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding question
number:

Options:

, = gaudy

> % shiny

5 o gold

4 % silver

Question Number : 70 Question Id : 7368156738 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding question
number:;
Options:

1 ® iffj,.'
o W if
visit this website studytosuccess.in
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= % Wweather

4 « Whether

Question Id : 7368156728 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (61 to 70)
Juestion Label | Comprehension

Given below is a passage with ten blanks, numbered from 11 to 20. Fill in the blanks
by choosing the correct option given against the corresponding question number:

The idea that technology would deal a fatal blow to the watch, simply hasn't panned

out. Men now own mobile phones and BlackBerrys as well as, not (11),
their timepieces. Watches are one of the (12) items that a man can wear
that he (13) display true character, signal that he is a (14) of
a particular club - whether it's an Audemars Piguet or a Swaitch - and

(15) in a liitle dose of extravagance (16), generally, drawing crificism.
Watches are the (17) face of male jewellery: bangles can he

(18), signet rings dodgy, ear studs a no-no and (19) chains rnisible. A Rolex
or a Jaeger LeCoultre, however, (20) it's gold, platinum or stainless steel,

Is viewed as wholly acceptable.

Sub questions

Question Number : 61 Question Id : 7368156729 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the

corresponding question number:
Options:
; = excluding

> % Including

= + instead of

4 % because of

Question Number : 62 Question Id : 7368156730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the

corresponding question number:
Options:

1« few

> % many

3. % little
4 % rare

Question Number : 63 Question Id : 7368156731 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the

corresponding question number:

Options:

1.« believes
visit this website studytosuccess.in
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= # holds

4 # understands

Question Number : 64 Question Id : 7368156732 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the

corresponding question number:
Options:
1 % follower

- # servant
= # master

4 « member

Question Number : 65 Question Id : 7368156733 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the

corresponding question number:
Options:

| ® enjoy

> % treat

= « Indulge

4 % consume

Question Number : 66 Question Id : 7368156734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the

corresponding question number:
Options:
1.« without

~ % removing
- % deleting

4 % Obviating

Question Number : 67 Question Id : 7368156735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the

corresponding question number:
Options:
, % public

> % private
- » dispensable

4 « acceptable
: visit this website studytosuccess.in
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the
corresponding question number:

Options:

1. v iffy

» % dangerous

- % untrustworthy
4 % risque

Question Number : 69 Question Id : 7368156737 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the

corresponding question number:
Options:

, = gaudy
> % shiny

- « gold
4 % silver

Question Number : 70 Question Id : 7368156738 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the

corresponding question number:
Options:

o % if

z % weather

4 « whether

Sub-Section Number: 3
Sub-Section Id: 736815200
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 7368156739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Giv en'be]cm. 1593 SE'P 0 to 1ve sentences. numbered 1% ‘1’11;:?1 e not in amgan?n ﬁﬂ

order. Choose from the options given. the order which will be acceptable and meaningful:

1. But there are people across the world standing at this moment in bathrooms with
knives, quietly hating themselves.

2. Concerns about how they look have become an obsession for these people, primarily
as they have a distorted view of their looks.

3. Most of us care about our appearance and like to be seen from particular angles.

4. This disorder is called body dysmorphic disorder (BDD): self-surgery is one of its

manifestations.

Walking to worlk., reflective surfaces distract us and we make small adjustments,

conceal and straighten

L

Options:

1 ® 3.4.2.15
5> o 351,24
3 % 3.4.1.25
4 % 3.45.1.2

Question Number : 71 Question Id : 7368156739 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a set of five sentences, numbered 1 to 5, which are

not in a meaningful order. Choose from the options given, the order

which will be acceptable and meaningful:

1.But there are people across the world standing at this moment in
bathrooms with knives, quietly hating themselves.

2. Concerns about how they look have become an obsession for
these people, primarily as they have a distorted view of their
looks.

3. Most of us care about our appearance and like to be seen from
particular angles.

4. This disorder is called body dysmorphic disorder (BDD): self-
surgery is one of its manifestations.

5. Walking to work, reflective surfaces distract us and we make

small adjustments, conceal and straighten
Options:

. % 34215
32 v 3.'5:1!2:4
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L % 34512

Question Number : 72 Question Id : 7368156740 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a set of five sentences, numbered 1 to 5. which are not in a meaningful
order. Choose from the options given. the order which will be acceptable and meaningful:

1. Most people’s hearts recover naturally within a few months. but 3 to 5 per cent of
people die. the same death rate as for conventional heart attacks.

2. The syndrome arises when there is a sudden ballooning of the base of the left
ventricle. the chamber in the heart from which blood is pumped round the body.

3. As the ventricle distorts — assuming the shape of the “takotsubo™ pot used to catch
octopuses in Japan — it becomes partially paralysed.

4. People should be aware that “T nearly died laughing” may be uncomfortably close to
reality as even positive emotions can cause acute cardiac events,

5. Takotsubo syndrome is usually known as ‘broken-heart syndrome” because of its
association with negative events, such as bereavements. triggering heart attacks.

Options:
W 523,14

> x 51234
3 ® 54.3.2,1

L % 532,14

Question Number : 72 Question Id : 7368156740 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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not in a meaningful order. Choose from the options given, the order

which will be acceptable and meaningful:

1. Most people’s hearts recover naturally within a few months, but 3
to 5 per cent of people die, the same death rate as for
conventional heart attacks.

2. The syndrome arises when there is a sudden ballooning of the
base of the left ventricle, the chamber in the heart from which
blood is pumped round the body.

3. As the ventricle distorts - assuming the shape of the “takotsubo”
pot used to catch octopuses in Japan - it becomes partially
paralysed.

4. People should be aware that “| nearly died laughing” may be
uncomfortably close to reality as even positive emotions can
cause acute cardiac events.

5. Takotsubo syndrome is usually known as ‘broken-heart syndrome’
because of its association with negative events, such as

bereavements, triggering heart attacks.
Options:

L v 52314
, % 51234
- % 54,321
. % 53214

Question Number : 73 Question Id : 7368156741 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Given below 159 se'Pc- Io 1ve sentences. numbered 1% A u‘ﬁlcfl eno 1 am an?ncrﬁﬂ

order. Choose from the options given. the order which will be acceptable and meaningful:

1. Of course ‘the shrine trees’ do not prove that chimps believe in any kind of
god. but it is the latest evidence of their extraordinarily rich behaviour.

2 Chimps have earlier been seen using spears to hunt bushbabies, going to war. and
seemingly using doll-shaped sticks as toys.

3. Most pertinent to the discovery of the “shrine trees™ is the evidence of chimps

displaying strange ritual-like behavior: a “‘ritual” dance during rainfall. or in the
face of a bush fire.
4. This could be a means of communication, since rocks malke a loud bang when
they hit hollow trees. or it could be more symbolic.
When camera fraps were set up near trees marked with unusual scratches. chimps
were captured placing stones in the hollow of trees, and bashing trees with rocks.

L

Options:

1 ® 51234
5> o 54132
3 % 5.4.3.2,1
4 % 54123

Question Number : 73 Question Id : 7368156741 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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not in a meaningful order. Choose from the options given, the order

which will be acceptable and meaningful:

1. Of course ‘the shrine trees’ do not prove that chimps
believe in any kind of god, but it is the latest evidence of their

extraordinarily rich behaviour.

2. Chimps have earlier been seen using spears to hunt bushbabies,
going to war, and seemingly using doll-shaped sticks as toys.

3. Most pertinent to the discovery of the “shrine trees” is the
evidence of chimps displaying strange ritual-like behavior: a
“ritual” dance during rainfall, or in the face of a bush fire.

4. This could be a means of communication, since rocks make a
loud bang when they hit hollow trees, or it could be more

symbolic.

5. When camera traps were set up near trees marked with unusual
scratches, chimps were captured placing stones in the hollow

of trees, and bashing trees with rocks.

Options:

, % 51234
. v 54,132
- % 54,3,2,1
. % 54,123

Question Number : 74 Question Id : 7368156742 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a famous saying. the words of which have been jumbled up and numbered.
Choose the right order from the given options:

or dared / Shakespeare's comedy/ no audacious spirit / to imitate /has dreamed

1 2 3 4 5
Options:
| o 3.5.14.2
> w 3.1,54.2
5 % 3.5.1.24
L % 34521
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Given below is a famous saying, the words of which have been
jumbled up and numbered. Choose the right order from the given

options:

or dared / Shakespeare's comedy/ no audacious spirit / to imitate / has dreamed
1 2 3 4 5

Options:

. v 35142
. % 31542
- % 35,124
L % 34521

Question Number : 75 Question Id : 7368156743 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is a famous saying. the words of which have been jumbled up and numbered.
Choose the right order from the given options:

far more tragic than / is / sometimes / death / to live on
1 2 3 4 5

Options:

._.
%

: i

i
L]
I-J
[

rd
"
LA
!x..'l
—
e e

:IJI
!x..'l

:IJI

!x.-'l

L L
Pl

W
L T N
-
[y

e

Question Number : 75 Question Id : 7368156743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a famous saying, the words of which have been

jumbled up and numbered. Choose the right order from the given
options:

far more tragic than / is / sometimes / death / to live on
1 - 3 4 5

Options:

% 54321
, % 532,14

= o 5.'2.'3:1 :4
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Question Number : 76 Question Id : 7368156744 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is an ungrammatical. defective, sentence and there are 4 options given. One
of them is the correct and improved form of the sentence. Choose the one which improves
the given sentence:

The exploration of the New World and the South Pacific brings a horde of culinary
treats across the kitchens and restaurants of England.

Options:
The exploration of the New World and the South Pacific brings a multitude of culinary
, % ftreats into the kitchens and restaurants of England.

The exploration of the New World and the South Pacific brought a multitude of culinary
-  (reats into the kitchens and restaurants of England.

The explorations of the New World and the South Pacific bring a gang of culinary treats
- % into the kitchens and restaurants of England.

The exploration of the New World and the South Pacific brought a multitude of culinary
, % treatsup to the kitchens and restaurants of England.

Question Number : 76 Question Id : 7368156744 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an ungrammatical, defective, sentence and there are 4

options given. One of them is the correct and improved form of the

sentence. Choose the one which improves the given sentence:

The exploration of the New World and the South Pacific brings a
horde of culinary treats across the kitchens and restaurants of
England.

Options:
The exploration of the New World and the South Pacific brings a

multitude of culinary treats into the kitchens and restaurants of
. = England.
The exploration of the New World and the South Pacific brought a
multitude of culinary treats into the kitchens and restaurants of
> « England.
The explorations of the New World and the South Pacific bring a gang
- » Of culinary treats into the kitchens and restaurants of England.
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multitude of culinary treats up to the kitchens and restaurants of
4 % England.

Question Number : 77 Question Id : 7368156745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is an ungrammatical. defective. sentence and there are 4 options given. One
of them is the correct and improved form of the sentence. Choose the one which improves
the given sentence:

Considered the gold age of English history, the Elizabethan era seen a flowering of
British culture in abundant different areas.
Options:
Considerad the gold age of English history. the Elizabethan era saw a flowering of British
1 # culture in abundant different areas.

Considered the golden age of English history. the Elizabethan era has seen a flowering of
- % British culture in many different areas

Considered the golden age of English history, the Elizabethan era saw a flowering of
-  British culture in many different areas

Considered the gold age of English history. the Elizabethan era saw a flowering of Britain
, % inmany different areas

Question Number : 77 Question Id : 7368156745 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an ungrammatical, defective, sentence and there are 4

options given. One of them is the correct and improved form of the

sentence. Choose the one which improves the given sentence:

Considered the gold age of English history, the Elizabethan era seen a
flowering of British culture in abundant different areas.

Options:
Considered the gold age of English history, the Elizabethan era saw a

, = flowering of British culture in abundant different areas.

Considered the golden age of English history, the Elizabethan era has
- » seen a flowering of British culture in many different areas

Considered the golden age of English history, the Elizabethan era saw
-  @a flowering of British culture in many different areas

Considered the gold age of English history, the Elizabethan era saw a

4 » flowering of Britain in many different areas
: visit this website studytosuccess.in
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Question Number : 78 Question Id : 7368156746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is an ungrammatical. defective, sentence and there are 4 options given. One
of them is the correct and improved form of the sentence. Choose the one which improves

the given sentence:

Elizabethan laws even dictated what Kind and color of cloth each classes could wear
so that they must be immediately identified.

Options:
Elizabethan laws even dictated what kind and color of cloth each class could wear so that
; % they could be immediately identified.

Elizabethan laws even dictated what kind and color of clothes each classes could wear so
- % that they must be inunediately identified.

Elizabethan laws even dictated what kind and color of clothes each class could wear so
-  that they could be immediately identified.

Elizabethan laws even dictated what kind and color of cloth each class
4 % could wear so that they could be immediately identify.

Question Number : 78 Question Id : 7368156746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is an ungrammatical, defective, sentence and there are 4

options given. One of them is the correct and improved form of the

sentence. Choose the one which improves the given sentence:

Elizabethan laws even dictated what kind and color of cloth each
classes could wear so that they must be immediately identified.

Options:
Elizabethan laws even dictated what kind and color of cloth each class

; % could wear so that they could be immediately identified.
Elizabethan laws even dictated what kind and color of clothes each
» » classes could wear so that they must be immediately identified.
Elizabethan laws even dictated what kind and color of clothes each
- « Class could wear so that they could be immediately identified.
Elizabethan laws even dictated what kind and color of cloth each class
4 » could wear so that they could be immediately identify.
S T R LT e MO0 omen Sl s Dy Qusion i v

Correct : 1 Wrong: 0.25
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Given below 159311 ungramimati zﬂ &efectn-*e. sentence anho‘rﬂerg are 4 c:up‘rmn.sp gleen. E)ue

of them is the correct and improved form of the sentence. Choose the one which improves
the given sentence:

A beard was considered a Elizabethan fashion accessory and were usually
accompanied with a mustache, shaved to a point.

Options:
A beard was considered a Elizabethan fashion accessory and was usually accompanied by
, w» amustache. shaved to a point.

A beard was considered an Elizabethan fashion accessory and was usually accompanied by

-  amustache. trimmed to a point.

A beard was considered an Elizabethan fashion accessory and was usually accompanied
- % Wwith a mustache, shaved to a point.

A beard was considered a Elizabethan fashion accessory and was usually accompanied by
, % amustache. trimmed to a point

Question Number : 79 Question Id : 7368156747 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an ungrammatical, defective, sentence and there are 4

options given. One of them is the correct and improved form of the
sentence. Choose the one which improves the given sentence:

A beard was considered a Elizabethan fashion accessory and were
usually accompanied with a mustache, shaved to a point.

Options:
A beard was considered a Elizabethan fashion accessory and was

, = usually accompanied by a mustache, shaved to a point.

A beard was considered an Elizabethan fashion accessory and was
>  usually accompanied by a mustache, trimmed to a point.

A beard was considered an Elizabethan fashion accessory and was
- % usually accompanied with a mustache, shaved to a point.

A beard was considered a Elizabethan fashion accessory and was
4 » usually accompanied by a mustache, trimmed to a point

Question Number : 80 Question Id : 7368156748 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Given below 159311 ungramimati zﬂ &efectn-*e. sentence anho‘rﬂerg are 4 c:up‘rmn.sp gleen. E)ue

of them is the correct and improved form of the sentence. Choose the one which improves
the given sentence:

Colour had much meaning on the Elizabethan Age, so the colour vou wore
determined what tvpe of person vou are.

Options:
Colour had much meaning on the Elizabethan Age. as the colour you wore determined
; » What type of person you were.

Colour had much meaning in the Elizabethan Age. as the colour you wore determined
- % What type of person you are.

Colour had much meaning in the Elizabethan Age. so the colour you wore determined
- % What type of person you were.

Colour had much meaning in the Elizabethan Age. as the colour you wore determined
4  What type of person you were.

Question Number : 80 Question Id : 7368156748 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an ungrammatical, defective, sentence and there are 4

options given. One of them is the correct and improved form of the

sentence. Choose the one which improves the given sentence:

Colour had much meaning on the Elizabethan Age, so the colour you
wore determined what type of person you are.

Options:
Colour had much meaning on the Elizabethan Age, as the colour you

. = wore determined what type of person you were.

Colour had much meaning in the Elizabethan Age, as the colour you
» » wore determined what type of person you are.

Colour had much meaning in the Elizabethan Age, so the colour you
- » wore determined what type of person you were.

Colour had much meaning in the Elizabethan Age, as the colour you
4 v Wore determined what type of person you were.

Question Number : 81 Question Id : 7368156749 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Given below 15 a sentence whl 118 to be transtformed and rewritten as in

brackets and there are four options given. Choose the one which can‘ectl}' Transfm‘ms the
given sentence :

I was always feeding the monkevs when I visited the temple. {into passive}

Options:
, « Themonkeys were always being fed whenever the temple was visited by me.

> % The monkeys were always being fed when I visited the temple.
5 % [ was always feeding the monkeys whenever the temple had been visited by me.

4 # When the temple had been visited by me. the monkeys were always being fed.

Question Number : 81 Question Id : 7368156749 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence which is to be transformed and rewritten as

indicated in brackets and there are four options given. Choose the one

which ‘correctly’ transforms the given sentence :

| was always feeding the monkeys when | visited the temple. {into
passive}

Options:
The monkeys were always being fed whenever the temple was visited

| « by me.
» % The monkeys were always being fed when | visited the temple.
| was always feeding the monkeys whenever the temple had been
- w Visited by me.
When the temple had been visited by me, the monkeys were always
4 % being fed.

Question Number : 82 Question Id : 7368156750 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a sentence which is to be transformed and rewritten as indicated in
brackets and there are four options given. Choose the one which ‘correctly’ transforms the
given sentence :

Whenever I needed some monetary help, I used to approach my teacher.
{into a simple sentence}

Options:
, % Any time needing some monetary help. I used to approach my teacher.
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> of %enevmgnee 1ng some Iﬁouetar}rﬁe‘ip. i usednm appmacﬂ my teacher. paper p

- % Needing some monetary help. I used to approach my teacher at times.

4 % Approaching my teacher whenever needing some money help was something I was used to.

Question Number : 82 Question Id : 7368156750 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence which is to be transformed and rewritten as

indicated in brackets and there are four options given. Choose the one

which ‘correctly’ transforms the given sentence :

Whenever | needed some monetary help, | used to approach my

teacher.
{into a simple sentence}
Options:
Any time needing some monetary help, | used to approach my
1. # teacher.
Whenever needing some monetary help, | used to approach my

> « teacher.
- % Needing some monetary help, | used to approach my teacher at times.

Approaching my teacher whenever needing some money help was

4 » something | was used to.

Question Number : 83 Question Id : 7368156751 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a sentence which is to be transformed and rewritten as indicated in
brackets and there are four options given. Choose the one which ‘correctly’ transforms the
given sentence :

Father to daughter: “Please give up this useless fellow. If vou won’t, we will hang
ourselves.” {Report this}
Options:

A father requested his daughter to give up that useless fellow and threatened her that if she
,  Wwould not. they would hang themselves.

A father asked his daughter to give up a useless fellow and threatened her that if she would
- % Dot. they would hang themselves.

A father requested his daughter to give up this useless fellow and told her that if she won't.
- % they would hang themselves.

A father pleaded with his daughter to give up a useless fellow and told her that they would

4 % hang themselves.
' visit this website studytosuccess.in
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Question Number : 83 Question Id : 7368156751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a sentence which is to be transformed and rewritten as

indicated in brackets and there are four options given. Choose the one

which ‘correctly’ transforms the given sentence :

Father to daughter: “Please give up this useless fellow. If you won't,
we will hang ourselves.” {Report this}

Options:
A father requested his daughter to give up that useless fellow and

, « threatened her that if she would not, they would hang themselves.
A father asked his daughter to give up a useless fellow and
> » threatened her that if she would not, they would hang themselves.
A father requested his daughter to give up this useless fellow and told
= = her that if she won't, they would hang themselves.
A father pleaded with his daughter to give up a useless fellow and
4 w told her that they would hang themselves.

Question Number : 84 Question Id : 7368156752 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Read the sentence given below. Pay attention to the words/phrases/segments in italics.
Choose the appropriate substitutes for the phrases and clauses ifalicized:

He explained the procedures to me before we started.
Options:
, w Droke down the procedures

- « took me through the procedures

- » gave me the procedures

, % showed me the procedures

Question Number : 84 Question Id : 7368156752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Read the sentence given below. Pay attention to the

words/phrases/segments in /falics. Choose the appropriate substitutes

for the phrases and clauses /falicized.

He explained the procedures to me before we started.
visit this website studytosuccess.in
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, = broke down the procedures

» « took me through the procedures

- » gave me the procedures

4 » showed me the procedures

Question Number : 85 Question Id : 7368156753 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Read the sentence given below. Pay attention to the words/phrases/segments in italics.
Choose the appropriate substitutes for the phrases and clauses italicized:

John to Mary: “I will continue to take care of you whether I have money or not, and
whether I am healthy or ill.”

Options:
, % John to Mary: “T will continue to take care you in rain and shine.”

o  John to Mary: “T will continue to take care you through thick and thin.”
- % Johnto Mary: “I will continue to take care of you in prosperity and penury.”

4 % John to Mary: “T will continue to take care of you whatever be my situation.”

Question Number : 85 Question Id : 7368156753 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Read the sentence given below. Pay attention to the

words/phrases/segments in /falics. Choose the appropriate substitutes

for the phrases and clauses /falicized.

John to Mary: “l will continue to take care of you whether | have

money or not, and whether | am healthy or il”
Options:
i = John to Mary: “l will continue to take care you in rain and shine.”

5 « John to Mary: “I will continue to take care you through thick and thin.”
John to Mary: “l will continue to take care of you in prosperity and

= % penury.”
John to Mary: “l will continue to take care of you whatever be my

4 % situation.”

Question Number : 86 Question Id : 7368156754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Given below 14 sentence whikh divided into four pgu‘ts fabelled A E.%(amnf B Ohe of
these parts contains an error. Choose the part that has the error:

He talked / thev around / to accepting / his point of view.
A B C D

Options:
1 % A
>« B
3. % C
4 % D

Question Number : 86 Question Id : 7368156754 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence which divided into four parts labelled A, B,

C, and D. One of these parts contains an error. Choose the part that

has the error:

He talked / they around / to accepting / his point of view.

A B E D
Options:
1. % A
>« B
z % C
4. % D

Question Number : 87 Question Id : 7368156755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a sentence which divided into four parts labelled A.B. C and D. One of
these parts contains an error. Choose the part that has the error:

Iswear on / their products- / thev're the best /on the market,.
A B e D

Options:
1.¢ A

E_WB
3. % C
4 % D

Question Number : 87 Question Id : 7368156755 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 025 visit this website studytosuccess.in
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C, and D. One of these parts contains an error. Choose the part that
has the error:

| swear on / their products- / they're the best /on the market.

A B & D
Options:
1. ¢ A

> % B
z % C
4. % D

Question Number : 88 Question Id : 7368156756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a sentence which divided into four parts labelled A.B, C and D
One of these parts contains an error. Choose the part that has the error:

The poor man / sticked it out / even though / he hated every minute of it.
A B C D

Options:
1 & A

>« B
z % C
4 % D

Question Number : 88 Question Id : 7368156756 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a sentence which divided into four parts labelled A, B,

C, and D. One of these parts contains an error. Choose the part that
has the error:

The poor man / sticked it out / even though / he hated every minute
of it.

A B e D
Options:

1% A
> « B
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4 % D

Question Number : 89 Question Id : 7368156757 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks with the correct form of idioms /proverbs by choosing the correct option
given :

The lab results were my shoulders as my diseases were under
control.

Options:
« aghost off

1L
- % ademon off

5 w aworry off

4  aweight off

Question Number : 89 Question Id : 7368156757 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks with the correct form of idioms /proverbs by choosing

the correct option given :

The lab results were my shoulders as my diseases
were under control.

Options:

; % a ghost off
> % a demon off
- % a worry off

4 v @ weight off

Question Number : 90 Question Id : 7368156758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks with the correct form of idioms /proverbs by choosing the correct option
given :

An entrepreneur must of the market to be successful.

Options:

, w Use his fingers on the pulse
-  keep his fingers on the pulse

- % maintain his hold on his pulse
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Question Number : 90 Question Id : 7368156758 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks with the correct form of idioms /proverbs by choosing

the correct option given :

An entrepreneur must of the market to be successful.

Options:
; = use his fingers on the pulse

» keep his fingers on the pulse
= % maintain his hold on his pulse

4 % know his pulse on his fingers

Question Number : 91 Question Id : 7368156759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Complete the sentence below by choosing one related pair of words that will fill in the
blanks:

Children need more than :
Options:
, % time: space

» % milk: food

5 % [riends: teachers

4 « models: critics

Question Number : 91 Question Id : 7368156759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Complete the sentence below by choosing one related pair of words

that will fill in the blanks:

Children need more than

Options:
; = time; space

> = milk; food
= = friends; teachers

4 « Mmodels; critics

Question Number : 92 Question Id : 7368156760 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single L ine Question Option : No ORjpa ¢ g Yv&Blile studytosuccess.in
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Complete the sentence below by choosing one related pair of words that will fill in the
blanks:

The is purchased by the :

Options:
, w» Village: city

» w class: school
- % lamb: sheep

4 « Tuture: present

Question Number : 92 Question Id : 7368156760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Complete the sentence below by choosing one related pair of words

that will fill in the blanks:

The is purchased by the

Options:
. = village; city

> % class; school
- % lamb; sheep
4 « future; present

Question Number : 93 Question Id : 7368156761 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A key word is given below. Choose the word closest to it in its meaning {synonym}. Pay
attention to how the word would be used to. if required:

strides [metaphoric usej

Options:
, « developments

> % treads
5 % paces

4 % advances

Question Number : 93 Question Id : 7368156761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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meaning {synonym}. Pay attention to how the word would be used to,
if required:

strides [metaphoric use]

Options:
» developments

- # treads
- % paces

4 % advances

Question Number : 94 Question Id : 7368156762 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A key word is given below. Choose the word closest to it in ifs meaning {synonym}. Pay
attention to how the word would be used to. if required:

aptitude
Options:

, = capacity
> % fitness
- » ability
4 « talent

Question Number : 94 Question Id : 7368156762 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A key word is given below. Choose the word closest to it in its

meaning {synonym}. Pay attention to how the word would be used to,
if required:
aptitude

Options:
| = capacity

- # fithess
- % ability
4 " talent

Question Number : 95 Question Id : 7368156763 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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attention to how the word would be used to. if required:

harvest [verb]
Options:

|« Teap

> % gather

- % garner

4 % procure

Question Number : 95 Question Id : 7368156763 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A key word is given below. Choose the word closest to it in its

meaning {synonym}. Pay attention to how the word would be used to,
if required:

harvest [verb]

Options:
1 ¥ reap

> % gather
- % garner
4 % [procure

Question Number : 96 Question Id : 7368156764 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A key word is given below. Choose the word which indicates the contradictory or opposite
meaning {antonym} of the key word:

offend
Options:
. » happy

o o Please
z % entertain

4 % gratify

Question Number : 96 Question Id : 7368156764 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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contradictory or opposite meaning {antonym} of the key word:

offend
Options:

; = happy
-~  please

= % entertain
4 w gratify

Question Number : 97 Question Id : 7368156765 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A key word is given below. Choose the word which indicates the contradictory or opposite
meaning {antonym} of the key word:

indict
Options:

1 % free

o o acquit
= % release

4 % discharge

Question Number : 97 Question Id : 7368156765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A key word is given below. Choose the word which indicates the

contradictory or opposite meaning {antonym} of the key word:
indict

Options:

1 % free

-~  acquit

z % release

4 % discharge

Question Number : 98 Question Id : 7368156766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is a set of four words. One of the four words is spelled wrongly. Choose the
word that has been spelled wrongly
Options:

1w Isometery
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o ®

5 % Symmetry

, % DBiometry

Question Number : 98 Question Id : 7368156766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a set of four words. One of the four words is spelled
wrongly. Choose the word that has been spelled wrongly
Options:
» |sometery
- » Geometry
5 % Symmetry

4 » Biometry

Question Number : 99 Question Id : 7368156767 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a set of four words. One of the four words is spelled wrongly. Choose the
word that has been spelled wrongly
Options:
1 # fluorescent

- % incandescent
= « luminascent

4 % obsolescent

Question Number : 99 Question Id : 7368156767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a set of four words. One of the four words is spelled

wrongly. Choose the word that has been spelled wrongly
Options:

1. % fluorescent

> # incandescent

= + luminascent

4 % obsolescent

Question Number : 100 Question Id : 7368156768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a set of four words. Choose the word with the correct spelling:

Options:

, % acquiesent
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- % adolesent

5 % Quiaescent

4 + convalescent

Question Number : 100 Question Id : 7368156768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a set of four words. Choose the word with the correct

spelling:
Options:
| = acquiesent

> % adolesent
= % (uiaescent

4 « convalescent

General Intelligerice

Section Id : 736815133

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 50

Number of Questions to be attempted: 50

Section Marks: 50

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 736815201
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7368156769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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given below it.

Following are the conditions for selecting a 'Research Officer’ for a the
reputed National Dairy Research Institute.

The candidate must:

A. Be a Post-graduate with minimum 60% marks

B. Have Ph.D degree

C. Have research experience of at least 3 years

D. Have fluency in Hindi and English

E. Have published at least 5 research papers

F. Not be less than 25 years and more than 35 years as on 1st July, 1993,
G. Have diploma in Statistical Applications

In the case of a candidate who:
I. satisfies all other criteria except A above but has Post-graduate degree
with more than 55% marks. his case will be referred to the Director of the

Institute
I1. Satisfies all other criteria except C above will be referred to the Joint
Director

Q: Abhinash is a Post-graduate with 62% marks. He has obtained Ph.D
degree and has published 5 research papers.

He has research experience of 3% years and fluent in Hindi and English.
He has completed diploma in Statistical Applications. His date of birth is
1st Sep. 1968.

Options:

1 % If candidate is to be referred to the Director

- i the data provided are inadequate to decide the course of action

= % If the candidate is to be selected

4 % If the candidate is to be referred to the Joint Director

Question Number : 101 Question Id : 7368156769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Bl
F. 37#1gR & 387 1 [ars 1993 & 25 a¥ & &A A4l 3N

35 ¥ § FIAET Al gr =g’
G. 3FHIgaR & I TfEewhe Toeihad & fFeatar g oifge

|, ST IFACIN 39UFd A F TISHT 3T THT AFSST F
[ FAT ¢, Feg 39S arH 55% ¥ AU e wigd
Hascar 22 &, 3T arEer grue @ & arg 8.
SATTETT

Il. 3TeFa C FF TS Hed Tl AES FF HIeE F=
T SFAIGART & HIFA HToIh I ST AT

Q: foaTer 62% 37T ®@fgd FHEe AT &, 394 dru=rsEn
frgirsmuagr R FT eI 3ILTTF
FFAUTT FT 389 g AR 7 7 33 # e 2] 384
TefEema voasw A fEeaar @ fRar @ suET FeAfary
1 farg=aT 1968 3

Options:

, % 3FAICAT Fr AwTF F I ST AT
o BT FIH T HhE FRIGRT aF FS & o0 JoaeT &
= % 3FAICAR F IS FFar AT
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Question Number : 102 Question Id ;: 7368156770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Read the following information carefully and then answer the questions

given below it.

Following are the conditions for selecting a 'Research Officer’ for the
reputed National Dairy Research Institute.

The candidate must:

A. Be a Post-graduate with minimum 60% marks

B. Have Ph.D degree

C. Have research experience of at least 3 years

D. Have fluency in Hindi and English

E. Have published at least 5 research papers

F. Not be less than 25 years and more than 35 years as on 1st July, 1993.
G. Have diploma in Statistical Applications

In the case of a candidate who:

I. satisfies all other criteria except A above but has Post-graduate degree
with more than 55% marks. his case will be referred to the Director of the
Institute

I1. satisfies all other criteria except C above will be referred to the Joint
Director

Q: Vanshika is a Post-graduate with 63% marks and has obtained Ph.D.
Degree and diploma in Statistical Applications. She is fluent in Hindi and
English. She has research experience of 2% years and has got 7 research
papers published.

Options:

1 % If candidate is to be referred to the Director

-  Ifthe data provided are inadequate to decide the course of action

= % If the candidate is to be selected

4 % If the candidate is to be referred to the Joint Director

Question Number : 102 Question Id : 7368156770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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9oAT & 3cal aierdl

TF Fidread TS 2T FAad §80 & e o

HAFYT HAOFNT & T99 g FeAter@d od a9 # a8 &

A. 3FHIEAR #gad8 60% 3% Tigd THAGSIcAl AT T
B. 3FHIGaR & 91H ur.U=r.gr =i 2T =g

C. 3FAIGaR & 9 I8 H FH ¥ FH 3 A F
He#a AT AeT

D. 3¥gar B 3R s 7 aEwg e =few

E. 37HcaR CaRT &F ® & 5 oM 9F yFg & g
SNy

F. 3FAER #T 37 1 s 1993 HI 25 a9 ¥ FA & AR
35 I¥ W AT FEl gr AMET

G. 3FHAIEIN F 9TH FfEeead veaag H fFeaaAT gar
SliEy

. S SFHEER TS A SIS 37T Tl AECEE F
T FAT &, g 39S 91w 55% ® e e ®fea
HATdsicay 23T 8§, 39T AT T g8y Aders & 99 &89
ST

. 39T C FI BIEay 37 Tl AFEE &1 Tgse &1
HTe SFAGART N HIFA HAToIh &I AT AT

Q: IfFT 63% 3FT Figd FHAEFIAT &, 3HS drLUEEn
fEefr grem Fir § 3y feese veisaw & oA frar
§3-|T§'{E|T:: &Er 7 @ & Jedg g 39 2% WA &
IHUTT T 37T ¢ A Ig 7 M 9F THIAT FT T 2|

Options:

, % 3FAICAT Fr AwTF F I ST AT
o BT FIH T HhE FRIGRT aF FS & o0 JoaeT &
= % 3FAICAR F IS FFar AT

, » SEHIGIN F WA FEF F IE & A0
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
Read the following information carefully and then answer the questions

given below it.

Following are the conditions for selecting a 'Research Officer” for a the
reputed National Dairy Research Institute.

The candidate must:

A. Be a Post-graduate with minimum 60% marks

B. Have Ph.D degree

C. Have research experience of at least 3 years

D. Have fluency in Hindi and English

E. Have published at least 5 research papers

F. Not be less than 25 years and more than 35 years as on 1st July. 1993,
G. Have diploma in Statistical Applications

In the case of a candidate who:

I. satisfies all other criteria except A above but has Post-graduate degree
with more than 55% marks. his case will be referred to the Director of the
Institute

I1. Satisfies all other criteria except C above will be referred to the Joint
Director

Q: 27 years old Vikram is a Post-graduate with 61% marks and has
obtained Ph.D degree. He is fluent in Hindi and English. He has got 5
research papers published and has research experience of 4 years. He has
completed diploma in Statistical Applications.

Options:

1 % If candidate is to be referred to the Director

> % Ifthe data provided are inadequate to decide the course of action

5 « If the candidate is to be selected

4 # If the candidate is to be referred to the Joint Director

Question Number : 103 Question Id : 7368156771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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ToAT & 3cal arferdl
TF giafesd T 2T FATHUH T & v o
FEUE FEEd F T g FEa od a7 s

A. 3FHGAR #gdH 60% 31 HEd Fdelcal ET AMET
B. SFATEET & 99 9.U=.ET == 2T =ier

C. 3FHIGaR & 9 AU H FA H FH 3 A H
IS AT TET

D. 3¥ear & 3R st & =g e TR

E. 357HcaN ZaRT & ¥ &H 5 oM 97 YH19g ohd g
arfgw

F. 37deR & 37 1 o 1993 & 25 a9 ¥ &7 g1 3R
35 I¥ & FTET AET BT AMET

G. 3FHEaIR & I TfEeea T H EFeaar g
Sl

|. T 3FAGEIN 39USd A F TISHT 37T T AASET &
QT Fr 2, Fheg 38 9w 55% ® e e wfed
HaFcaT 337 &, 39T A1EaT G [ & g &84
STTET

Il. 3= C I BIEa 37 Tl AFGS & e F
3ol 3FATCEIRT T HIFA TATelsh HI AT ST

Q: 27 I9fT A 61% 31T "@gd Ha&aT &, 38
droed #r 8 37 B T e A aevg 21 384 5
99 wIed TR € R 38 4 @ & oavy & e g

IHS FTEeHor T A fEearar R g

Options:

| % 3FAEAR H TACAF F IH AT AT

o % 3O F Y HHT FAGE 9T F & o0 Fqared &
5« BEAEAN & T34 har AT

, » IEHICAR F HIFT U F IE HT A0
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Read the following information carefully and then answer the questions
given below it.

Following are the conditions for selecting a 'Research Officer’ for the
reputed National Dairy Research Institute.

The candidate must:

A. Be a Post-graduate with minimmum 60% marks

B. Have Ph.D degree

C. Have research experience of at least 3 years

D. Have fluency in Hindi and English

E. Have published at least 5 research papers

F. Not be less than 25 years and more than 35 years as on 1st July, 1993.
G. Have diploma in Statistical Applications

In the case of a candidate who:

I. satisfies all other criteria except A above but has Post-graduate degree
with more than 55% marks, his case will be referred to the Director of the
Institute

I1. Satisfies all other criteria except C above will be referred to the Joint
Director

Q: 28 years old Subham has obtained his Ph.D degree and is a Post-
graduate with 70% marks. He has diploma in Statistical Applications and
has experience of 2 years. He has got published 5 research papers and is
fluent in English and Hindi.

Options:
1 % If candidate is to be referred to the Director

> % Ifthe data provided are inadequate to decide the course of action

= % If the candidate is to be selected

4 « If the candidate is to be referred to the Joint Director

Question Number : 104 Question Id : 7368156772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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99AT & 3cal Eifadl
U Gidfead T 3T FHA 8 & o v
FAETE FRERT & T &g FEtataa od 97 #7 T3 §

A. 3FHIEER #gaH 60% 3% Higd FATdedlcd? &lT =MeT
B. 3FAEET & 91H 9I.U=.E 2 =T =fev

C. 3FAIGaN & 9IH HJEUE H FH H FH 3 A Hl
s e

D. 37HeaR 1&er 3R 7= # g g =g

E. 378IcaR 2aRT &8 ¥ A 5 AT 97 TS99 od g
CliEy

F. s7fier &1 37 1 Ja1s 1993 #r 25 a% ¥ &7 g AR
35 9 & ST A4l gEr TigT

G. 3FACIR & I TfFcra Tk # fFeamEAr gar
IMET

|. ST 3FARGAN 39099 A F TOIEHT =0 AT JAS=T FT
G FAT 8, Theg 3WS urH 55% W HfUw T wied
Erasicat 2 &, 3HsT A1Eer grue A & 9ty e
SATTET

Il. 39U C &I BIga =g Tl AFCS! H HIC HlA
Aol 3FAGART I HYed HeIloleh I ST AT

Q:28 ¥ A & dre=d & § AW IF 70% FEr wea
Haeicl g, 3W% UTH FRiicHd Usalhad # fFearar 2
3 2 WS FT HFHT 2| 384 5 oy uF g R
AR 7€ & 7 3 # e g

Options:

, % 3FAICAT Fr AwTF F I ST AT
o % 3T FY T MR FRAGE 9T F F foT dgareT
= % 3FAICAR F IS FFar AT
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Question Number : 105 Question Id ;: 7368156773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In a certain code language. if SPEAKER is coded as 3942845 and SYSTEM is coded as
313647. then MATTER will be coded as?

Options:
1 ® 276465

o o 726645
2 ® 726654
4 % 276654

Question Number : 105 Question Id : 7368156773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T T Aefas sr § SPEAKER &6 3942845 3T SYSTEM &
313647 2r@r =mar g, ar MATTER & &9 g Brar Jmeem?

Options:

1 % 276465
> « 726645
2 % 726654
4 % 276654

Question Number : 106 Question Id : 7368156774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In a certain code language. if GOOGLE is coded as 244285 and FACEBOOK is coded as
63951447, then GLOBAL will be coded as?

Options:
1 o 284138

> % 824138
3 % 284183
4 % 248138

Question Number : 106 Question Id : 7368156774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

7Y B Oesfas a9 7 GOOGLE a7 244285 3t FACEBOOK #r
63951447 for@r =ar &, 3 GLOBAL & &g o forgr Amee?

Options:

1« 284138
> % 824138

z & 284183
visit this website studytosuccess.in
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Question Number : 107 Question Id : 7368156775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Calculate the area of the following figure?

55 ¢m

3cm

|1 em

34 cm

6 cmn
2 em

25 mm

Options:
, % 19.5sq.cm

5 % 28.5 sq.cm
5 15.7 sq.cm

4 40.5 sq.cm

Question Number : 107 Question Id ;: 7368156775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

& g8 Igfa & eI # o A

S55cm

3 cmn

1l cm

3.4 cm

6 cm

25 cm
Options:

% 19.5 97 AL
> % 28.5 T WA
s v 15.7 7 A
4 % 40.5 F=T WA

Question Number : 108 Question Id : 7368156776 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No ORypa{¢ gl veBiite studytosuccess.in
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Calculate the perimeter of the below figure?

A lU Cln B
=
[
L L=
F S cin E E
=
=
1-
{:1
D 2cm
Options:
1 % 17cm
> % 20cm
3 « 34 cm
4 % 30cm

Question Number : 108 Question Id : 7368156776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

& g8 gla & Ry T HfeEr

A 10 cmn

1
by = CIn

S c1n

un g

U#cm{rj
0

b=

Cin

Options:

;% 17 T
> % 29 WA
s « 34 TAL
4 % 30 WA

Question Number : 109 Question Id : 7368156777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
You have got a new job. Today is the joining day. What will you do once you arrive at
your new workplace?
Options:

Interact with co employees and tell them how work was being done at your previous
1 % office.
> u Cook food for your team for a couple of weeks.

visit this website studytosuccess.in
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5 ® ?’1}; to analyse m'c\{leptﬁhcrﬁ work is being can!?ed out a }gm New o ce'.) perp

4  Introduce yourself.

Question Number : 109 Question Id : 7368156777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

HTIeRT T A5 At AT &1 317 39 gger & g 39 39« a3
FREAS T TG F FT HL1?
Options:

HE FHIET & Y 999d F8T AT 3¢ gae & 397 Roe s
 x H FH FH Far Fmar o
FT g9 & AT 3wl 7 F O @Er g

> % 3

T FEATTT H FTH FI & TR FT Tg0e § fFeawur s $r Frfdrer
- % L
4 v HIAT ST &9

Question Number : 110 Question Id : 7368156778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Your friend is asking you about the risks of earthquake. You do not know the exact answer.
How would you answer?
Options:
, % Tellhim something which might be correct.
Politely answer that you do not know the answer exactly and will let him know once you
> o are aware of it.
5 % 11y to speak rubbish on other different topics.

, % Rudely reply him that you are not answerable to his question.

Question Number : 110 Question Id : 7368156778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AT AT 85T & @A & IR A U5 @ 8| AOH S ¥ A9 A& I

HTT FIT FIF 2917
Options:

| x 3 FT @ FACE S W @ W g
EAHTT 919 &37 & HT9RT S5 TaTeT &1 J919 3k § 94T Jl g AT
, v T FHF T H IAT ToRW, A 3H TS T &3
s % 3T Affes Rwat 9T gFarg FIA Fr FfRver s
, » SFGT W Fger F HT 3HF TG F A9E &7 & v e A9 g
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Question Number : 111 Question Id : 7368156779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Statement: Should famous personalities like actors who have committed crime be specially
treated.

Argument 1: Crime is not comumitted intentionally by the famous actors .

Argument 2: Everyone is equal before law.
Options:
L= Argument 1 1s strong

> 7 ie atr
5 o Argument 2 1s strong
- » Both the Arguments are strong

, % Neither of the Arguments are strong

Question Number : 111 Question Id : 7368156779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

FoeT: gfag gfegar W yEaar T aay & & Far 39w ey
§3dT9 LT =FET?

FF 1. 9EE AEAar FEES O FTYT FE A

T 2 FAA & THS T AT g

Options:

, % d% 13T §
2_-33#2@'9‘%‘

3 % &l 9% 3 &

.« FIS o T 3T AL &

Question Number : 112 Question Id : 7368156780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Statement: Internal examinations in universities should be abolished?

Argument 1: Professors won't be biased.

Argument 2: Professors will lose control over students.
Options:

| = Argument 1 is strong

5 o Argument 1 is strong

- » Boththe Arguments are strong

, % Neither of the Arguments are strong

Question Number : 112 Question Id : 7368156780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Optipn _Orkﬁ]lt,ation : Vgtig%l .
visit this website studytosuccess.in
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FUeT: FIT Eeaficareat F = I A TeT 5T 7 & IE?

aF 1: 9FET TETITaT el arer

% 2: SRET ol W ¥ FgF0r @ &E

Options:

, % d% 13T §
2_-33#2@'9‘%

5 % &l 9% 3 &

4 % FIS o TF W A @

Question Number : 113 Question Id : 7368156781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Compute the following:
(444 +(222y=?

Options:

1 ® 746740
o o 246420
= ® 756750
4 % 246419

Question Number : 113 Question Id : 7368156781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Aatar@a Fr e FfFT
(444)3+(222)3=?

Options:

1. % 746746
> « 246420
3. # 756756
4 % 246419

Question Number : 114 Question Id : 7368156782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
IfEis X. Fis /. Gis - and H is +, then what will be the value of (7TE9 G 20 H 15 F 3)?

Options:
1. ¢ 35

o B 30
T 38

g W 31

Note: For thisquestion, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.
visit this website studytosuccess.in
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Question Number : 114 Question Id : 7368156782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

T ER X, FR Y, GHR W ITHA '+ FI a1 g, ST (7E 9 G
20 H 15 F 3) &1 A FIT gF07

Options:

1. ¢ 35
> % 30
3. % 38
4 % 31

Note: For thisquestion, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 115 Question Id : 7368156783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the odd figure.

¥ ¥ 99

Options:
1. %

a
> % b
z ® C

d

4 &

Question Number : 115 Question Id : 7368156783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

o smepfa &1 =9 &7

3 %

Options:
1% a

o % b

3 % C

4 v d

Question Number : 116 Question Id : 7368156784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
1 % 4
>« b
T ® C

4.%d

Question Number : 116 Question Id : 7368156784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

e amepfar &1 =13 &Y

Options:
1. % a

>« b
3. % C
4 % d

Question Number : 117 Question Id : 7368156785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Compute the following
288/30+24 x 7-12

Options:
1 ® 160.7

> « 165.6
3 % 159.7
4 % 161.5

Question Number : 117 Question Id : 7368156785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

AaeTEa &1 0T AT
288/30+24 x 7-12

Options:

1.8 e visit this website studytosuccess.in
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3. % 159.7

Question Number : 118 Question Id ;: 7368156786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The height of right circular cone whose radii is 20 cm and volume is 4000 cubic cm will be?

Options:
1« 9.55cm

- % 7.55cm
= ® 5.78cm
4 % 06.50cm

Question Number : 118 Question Id : 7368156786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

wmm?ﬁmaig:ﬁﬁm%ﬁ.ﬁr.ﬁmmmmﬁm

Options:

| « 9.55 HAL
> % 7.55 WA,
- % 5.78 T
4 % 6.50 WA

Question Number : 119 Question Id : 7368156787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Choose the correct niumnber from the below given alternatives that will complete the series
by replacing the '?'

1E: 3385, 71,897

Options:
1 % 130

5 = 110
o 121
4 % 129

Question Number : 119 Question Id : 7368156787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

fer o1e fopedt & @ 3@ foshed @1 o RS = Ay & ge Ao 7 2
&I STIE AT 3/ TOT R
11, 33, 55, 77, 88,7

Options: visit this website studytosuccess.in
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> % 110
3 « 121
4 % 129

Question Number : 120 Question Id : 7368156788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Choose the correct number from the below given alternatives that will complete the series
by replacing the'?’

10, 22, 38, 58, 82,7

Options:
1 v 110

> % 100
2 = 140
4 % 130

Question Number : 120 Question Id : 7368156788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

U 7T fFFcar # ¥ 39 T&quaﬂﬂuﬁﬁﬁﬁﬁﬁﬁﬂ?'ﬂﬁﬁ‘?
& T ITHT 3F TOT R

10, 22, 38, b8, 82, ?

Options:

1.« 110
> % 100
z # 140
4 % 130

Question Number : 121 Question Id : 7368156789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Rini pointing to a man says. "This man is my nephew’s maternal grandfather." How 1s the
man who has no other sister. related to Rini's sister?

Options:
1 % Cousin

> % Sister-in-law
3 « Father
4 % Mother-in-law

Question Number : 121 Question Id ;: 7368156789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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?i"mmmﬂémﬂﬁﬁmﬁ?ﬁﬁasﬂ T FIT FEa= 27

Options:

|« T=RT 87§ (Cousin)

5 ® el (Sister-in-law)
- T (Father)

4 % 91H (Mother-in-law)

Question Number : 122 Question Id : 7368156790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Pointing to Ganga. Sachin says. "I am the son of the only son of her grandfather." How
Sachin is related to Ganga?

Options:
1 ® Son

- % Father
= « Brother
4 % Cousin

Question Number : 122 Question Id : 7368156790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
IR B IR FRT TS gC AT F T, " H 3WF aqr F ool 9T F
aﬂgj’, e &7 3@ ¥ Far frear g7

Options:

1 % ST
o % Toar
5 v 8%
, % T #1F (Cousin)

Question Number : 123 Question Id : 7368156791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select a figure which from (a)(b)(c) or (d) will come next?

» i O . th i i T t
= = — 11} _ pm
e o a ub uc d
Options:
1 #® 4
o # b
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4 % d

Question Number : 123 Question 1d : 7368156791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

(a) (b) (c) T (d) & ¥ 37 HFId & T4 F{ A HoT F 3eT6T gel .

i e " h “1d - i
= = o m|., Do
a uh —;_;c d
Options:
1. % a
> % b
2 ¥ C
4 % d

Question Number : 124 Question Id : 7368156792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select which pair of alphabets from (a)(b)(c) or (d) will come next?

o] AGORl® rvre

DM QP MM CR DE ?

Options:
1.¢ a

E.Wb
= # C

4 % d

Question Number : 124 Question Id : 7368156792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

(a) (b) (c) 3T (d) 3 F F 37 A2 &1 I97 F¢ A1 A0 F 309700
g
I:l @ @ CP QP CM ER
|:| /E]\D O a b C d
oM apP MM CR DE ?

Options:
1 % a

= % b
T % C
4 % d
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Question Number : 125 Question Id : 7368156793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

If quotient is 345, divisor is 256 and remainder is 194 then what will be the dividend?

Options:
1 « 67586

> % 87549
s % 98754
4 % 87589

Note: For thisquestion, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 125 Question Id ;: 7368156793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TfE HATHT 345, AT 256 UF 99GeT 194 g, ar =T F4T &em?
Options:

1.« 67586
> % 87549
5. % 98754
4 % 87589

Note: For thisquestion, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 126 Question Id : 7368156794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Calculate the height of right cylinder whose radius is 10 cm lateral surface area is 2000 cm??

Options:
1 ® 29.66cm

> o 31.83cm
= % 33cm
4 % 34.5cm

Question Number : 126 Question Id : 7368156794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

3 GHFIUNT S0 & 32 A9 Hiierd or@dr &F=ar 10 T8 v 9
Tag &7 2000 97 TAL. 27

Options:

1 % 29.66 H.AH.
> « 31.83 WA
= % 33 WAL

4 % 345 AT
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Six girls are sitting in a circle facing to the centre of the circle. They are Priya. Neha,
Rashmi. Sonali. Tina and Veera. Tina is not between Neha and Sonali but some other one.
Priya is next to the left of Veera. Rashmi is 4th to the right of Priya.

Which of the following statement is not true?

Options:

, w Sonali is just next to the right to Rashmi

-~ % TIinais just next to the right of Veera
% « Rashmi is second to the left of Tina
, % Priyais second to the right of Rashmi

Question Number : 127 Question Id : 7368156795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 025
o FEfaT U TF F FF T N AT I T dﬁmml{ﬁ‘aﬁrﬁ?i ECCT
a1 yar, Jgr, 98, e, 89 s S g e, F7r 3R et F

&I # 7§, Weg s AR 38 &) 2w, v F 9 e #F #8711 W@,
Rrar & g & =t 2

fFeaofea & ¥ S99 a9 T7 74 & ?

Options:

1@3%,?@?3?3?3@%
., A F g Fgud

. » T, TRA & ad W ogEd g

Question Number : 128 Question Id : 7368156796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Six girls are sitting in a circle facing to the centre of the circle. They are Priya, Neha,
Rashmi. Sonali. Tina and Veera. Tina is not between Neha and Sonali but some other one.
Priya is next to the left of Veera. Rashmi is 4th to the right of Priya. If Priva and Rashmi
interchange their positions then which of the following pair will sit together?
Options:
1 % Rashmi & Tina

- w Priya & Veera
3  Veera & Tina
4 % Neha & Veera

Question Number : 128 Question Id : 7368156796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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a:mwwﬁfwﬁm?mwmﬁﬁﬁﬁi ECCo

AT T, AT, 9, g, Sar HR Ry g &, Jgr 3R FEren &

9T # T TWeq P15 AN 38 T Ban, 0 & S a3 8 71 Ww, B

F g @ =telr & 39w T 3t @9 39er S 39y # seo odr &, ar
ffof@a # & Fiaar Jer @ty &7 a7 gem?

Options:

= IR 3 e
> % T 3k 9
5 anT 3T S
4 % o@T AR IR

Question Number : 129 Question Id : 7368156797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Six girls are sitting in a circle facing to the centre of the circle. They are Priya. Neha,
Rashmi. Sonali. Tina and Veera. Tina is not between Neha and Sonali but some other one.
Priya is next to the left of Veera. Rashmi is 4th to the right of Priya.

What is the position of Tina ?

Options:
, % Justnext to the right of Neha

- % Second to the left of Priya

- % DBetween Neha and Rashmi
4  To the immediate right of Veera

Question Number : 129 Question Id : 7368156797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
©: TSl 9% & &g FT AN HE F T AAHR ﬁﬂ@r?%lﬁ#m
T, Fgr, I\, g, 8ar HR 9§ SFr Jer 3R g F 99

H @ g fear AR F @ #7 38 71 B, 3 F 8 9 gl A,
rar & g ¥ =tefr 21 &7 Far 357 37

Options:

. % AgT & S g

, » T & W @ qEdr

5 x AET AR WA & d= A
4 v 3T F EF T

Question Number : 130 Question Id : 7368156798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25 visit this website studytosuccess.in
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pattern (A)(B)(C)(D)(E)

O18|18|SD| |

(A) (B) (c) (D) (E) (1) (2) (3) (4)

Options:
1 ® 1

> o 2
T W 3
4.$24

Question Number : 130 Question Id : 7368156798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
= few e fmeT (1), (2), (3) 3R (4) # ¥, 37 HFHd & Ia97 F{ A
(A) (B)(C) (D) (E) % Ha=T I T & :

S R o B i O S 2

(A (B) (c) (D) (E) (1) (2) (3) (4)

Options:
1. % 1

> o 2
z % 3
4. % 4

Question Number : 131 Question Id : 7368156799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the odd one out from the given alternatives

Options:

1 % Turtle
- % Lamb
3 % Colt

4 « Bitch

Question Number : 131 Question Id : 7368156799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
o =1 fredt & ¥ f@e &7 =99 Y
Options:

1.*3@}”
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3 % FOST
4 i

=

Question Number : 132 Question Id : 7368156800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which one of following keywords/phrases differ from the others in the given options

Options:
1 ® ADG

> % PSV
s « SUW
4 % CFI

Question Number : 132 Question Id : 7368156800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
%ﬁﬁﬁaﬁﬁaﬂamﬂwamfmrmﬁmﬁﬁ:ﬁré?

Options:

1. % ADG
2 % PSV
z « SUW
4 % CFI

Question Number : 133 Question Id : 7368156801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the odd one out from the given alternatives

Options:
1 ® Venus

- % Satun
3 « Earth
4 % Mercury

Question Number : 133 Question Id : 7368156801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
%‘Q‘E‘Uﬁmﬁﬁﬁimaﬁﬂuﬂﬂﬁ:
Options:

| % Ak

o % offe
5 v T
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Question Number : 134 Question Id : 7368156802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Four pair of words are given below. out of which three are alike in some manner and one
pair is different. Which pair is different from the rest?

Options:

1 % Flower : Petal

> % Chair:Leg

z % Circle : Arc

4 Cover : Page

Question Number : 134 Question Id : 7368156802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A= ol & IR S Ty v §, TEH ¥ O G v ¥ oA 7 3k
T HTATA g1 FiTar AT a0 ST @ &ea 272

Options:

1&3%: :El?-lag
o w TN AT
= % JTeAT ;=9

Question Number : 135 Question Id : 7368156803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the correct number from the below given alternatives that will complete the series
by replacing the'?’
7.13,17, 19,23, 7
Options:
1. %

I~

5

I-2
a

o W

I~
L]

S ¥

I
-1

E

Question Number : 135 Question Id : 7368156803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ﬁﬁmﬁwﬁﬁ#mmﬂmﬁﬁmm;ﬂ?aﬁaﬁﬁ‘?'
& T H AT 3§ qOT A

7 151 1825 7

Options: .. . . )
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o % 24
= o 29
4 ® 27

Question Number : 136 Question Id : 7368156804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the correct number from the below given alternatives that will complete the series
by replacing the'?’
T s 1181277
Options:
1 *® 7
o W 12
= % 13

4. ¢ 10

Question Number : 136 Question Id : 7368156804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

fear o1c fohedt & @ 3@ §&A # TS AT A A= g ogs Avh A Y
F TS H HHT 3H qOT Y

4. 70,8, 1.9, 12,2

Options:
1% 7
> % 12
z % 13

4 « 10

Question Number : 137 Question Id : 7368156805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Looking at the portrait of a girl, Sarojini said. "Her mother is the wife of my father-in-
law's son. I have no brother-in-law and sister-in-law." At whose portrait was Sarojini
looking ?
Options:
1 « Her child

> % Her father

- » Her grandson

4 % Hernephew

Question Number : 137 Question Id : 7368156805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
visit this website studytosuccess.in
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¥4 5 =i ¥ TSN £ T & AT 2w @ M

Options:

| HOA T
o R 3-I'=|ﬁ' ﬁl_'n-
- % 39« 919 (grandson)

, % 3T 8T (nephew)

Question Number : 138 Question Id : 7368156806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Pointing to a boy. Sanchi said. "His mother's brother is the only son of my mothers's
father." How the boys mother related to Sanchi?

Options:

1 % Mother

- % Sister
= o Aunt

4 % Grandmother

Question Number : 138 Question Id : 7368156806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
TF FEF H A’ THA F gU W A F, SHA A F AR AY A F
Rar &7 Sallar aeT £ F=% & #AT FT TEr ¥ AT qa 87

Options:

% A

> #% S

s « =T (Aunt)

4 % @Iar (Grandmother)

Question Number : 139 Question Id : 7368156807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
From the below given alternatives (1).(2).(3) and (4), select a figure that will complete the

pattern (A)(B)(C)(D)(E)

T [o] 5 Q =
EO HT DQ 5 cﬂ' = x: K= *=
. x %
% 0 P c % [+ c 4 c

(A) (B) (<€) (b)) (E) (1) (2) (3) (4)
Options:
1 ® 1

2_%2

visit this website studytosuccess.in



ﬁfJ?in Telegram More Update Note: All previous year Exam paper provides
3

4 % 4

Question Number : 139 Question Id : 7368156807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

= e 71w e (1), (2), (3) 3R (4) & ¥, 3¥ FHI F 9947 Y
ST (A) (B) (C) (D) (E) % HeeT I T &Y :

T o 5 Q - Q Q (]
nl‘.’.‘.’l )(T I':Iﬂ -] c'D — =+ x= +=
. x x
x x i:x x c c 4 [

(A) (B) (c) (D) (E) (1) (2) (3) (4)

Options:
1. % 1

o ® 2
2. ¢ 3
4 % 4

Question Number : 140 Question Id : 7368156808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
From the below given alternatives (1).(2).(3) and (4), select a figure that will complete the

pattern (A)(B)(C)(D)(E)
) OO W oo

(A) (B) () (D) (E) (1) (2) (3) (4)

Options:
1 & 1

o o 2
3_%3
4 % 4

Question Number : 140 Question Id : 7368156808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
= T T e (1), (2), (3) #R (4) F &/, 3T FFT & TAF = A
(A), (B), (C), (D), (E) & HeeT I U &Y :

D (@O @O DA (OO

(A) (B} (C€) (D) (E) (1) (2) (3) (4)

Options:
1. % 1

o 2
visit this website studytosuccess.in
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4 % 4

Question Number : 141 Question Id : 7368156809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Consider the following information:

Letif 2 & 6% 7=33. 4 & 6 % & = 54. then what will be the value of 6 %0 § & 9?
Options:

1. 77

> % 95

z % 99

4 ® 938

Question Number : 141 Question Id : 7368156809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

#Ar=r &1 71 AN W e
34?1'{2&8%?:33%',4&6%8:54 ?’, a6 % 8 &9 FHAA
FT grem?

Options:

1.9 77
2 % 95
3 % 99
4 % 98

Question Number : 142 Question Id : 7368156810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following equation is correct:

Condition given to interchange signs "+’ and "-* : numbers "5’ and "8’.
Options:

1 o 82-35+55=2

5 % 82-35+55=102
2 % 85—38+85=132
4% 52-35+55="72

Question Number : 142 Question Id : 7368156810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T A e ¥ FEw My - @ wEEw 5 AR 8 @ owmw A
e fear =T, af AT § ¥ Fi9ar gH0r 6 87
Options:
1.+ 82-3b+55=2
visit this website studytosuccess.in
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132
72

5 % 85-38 + 85
4 % 52 - 35 + 55

Question Number : 143 Question Id ;: 7368156811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following equation is correct;
Condition given to interchange signs - and "= : numbers 2" and '6°.

Options:
1 ® 32-12+6=30

5 % 36+12-2=1
5 o 32-16+6=1
4 % 36—12+2=30

Question Number : 143 Question Id : 7368156811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A ERT e vy gurEEmT 2 vE 6 T NEOE A
2o T Fv, o Raei@a § ¥ Siaar gHeor g 787 87

Options:

1. %32-12+6=230
> %36 +12-2=1
2 32-16+6 =1
4 % 36-12+ 2 =30

Question Number : 144 Question Id : 7368156812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

30 members of a team ROYAL decided to play a cricket tournament. Every time a member
loses a game he is out of the tournament. There are no ties. What is the minimum number
of matches that must be played to determine the winner?

Options:
1 # 10

o W 15
3. ¢ 29
4 #® 61

Question Number : 144 Question Id ;: 7368156812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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TEET W gRAT g, aF 38 TAHE § 9T & 14T g1 $HA Fg off T

(TTET - FEN) AEr &1 oA F7 9ar e & O 7 ¥ F51 Faa 39

ol {19 TF 87

Options:

1. % 10
> % 15
2« 29
4 % 61

Question Number : 145 Question Id : 7368156813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Carefully observe the given sheet of paper (X). You need to find out the cube from the
given alternatives that is formed by using given paper (X)

v e 99

Options:
, % 2and3 only

- 1.3 and 4 only
5 % 2and4 only

4 % landd4only

Question Number : 145 Question Id : 7368156813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

FETSA (X) F SAAGES ST@F, TR IaT 9T ¢ o FETA (X) & FIT
¥ Paaf@a Tesar # @ Fiaar ua ga39m?

v v 59

Options:

| % FIT 2 0T 3
o I 1, 3 T 4

3 %209 4
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Question Number : 146 Question Id : 7368156814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Four defensive football players are chasing the opposing wide receiver, who has the ball.
Messi is directly behind the ball carrier.

Ronaldo and Burton are side by side behind Messi. Zeller is behind Ronaldo and Burton.
Messi tries for the tackle but misses and falls. Burton trips. Which defensive player tackles
the receiver?

Options:

1 ® DBurton

> % Zeller

3 « Ronaldo

4 % Messi

Question Number : 146 Question Id : 7368156814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

IR TECHF Feard Qo) fRff dr s ass R o W E '
fores o @l g, #Er a7 SRET & A% NS g, Aaresr 3R gefa |-
|/ HET F NS §| Fow, Aeresr AR FEfT & T g1 F74 SFar a3 H¥
FIfANT T & AfFed TF Far § AT B Far g1 g2 aswsr 7w g
STH T T T WIcAF WanEr TEE &7 95T sEm?

Options:

gefa

1. % 5

g_fﬁjm
3_<;f’fl?-|'lﬁ>|'
4.%633‘3\#

Question Number : 147 Question Id : 7368156815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the correct number from the below given alternatives that will complete the series
by replacing the?
36, 34. 30, 28. 24,7
Options:
- R 20
= ® 23

4 B 26
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

fEFr o1 feedt & @ W€ WEAT F AT FE S 7 Ffarig
A & T Ao F:F R |
36, 34, 30, 2824, ?

Options:

1 & 22
o % 20
z ® 23
4 % 26

Question Number : 148 Question Id : 7368156816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Choose the correct number from the below given alternatives that will complete the series
by replacing the?
121, 144, 169, 7, 225

Options:
1 ® 180

> % 172
s % 186
4 196

Question Number : 148 Question Id : 7368156816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

3 o1 Reeat & @ | §EA & AT F S 2 & sfarig
A &Y 7F Ao B T FEm|

121, 144, 169, ?, 225

Options:

1. % 180
2 % 172
3. % 186
4. « 196

Question Number : 149 Question Id : 7368156817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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from the given alternatives (1).(2).(3).(4) ?

[ Dmo D
Hr
3 |«
(X)
Options:
1 # 1
o 2
3. % 3
4 % 4

Question Number : 149 Question Id : 7368156817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

gl (X) # G @ By o 31 Reeew (1), (2), (3), (4) & & T
FaC & 3l (X) 971 & 12 S et
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Options:
1. % 1

o of 2
z % 3
4 % 4

Question Number : 150 Question Id : 7368156818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the odd figure.

Options:
1. 4

2_%]3
z # C

4 #% d

Question Number : 150 Question Id : 7368156818 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
SingleLine Question Option : No ORypa el v&Biite studytosuccess.in
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e smepfar &1 =9 &7

Options:
1.+ a
o % b
z % C
4 % d
General Awareress
Section Id : 736815134
Section Number : 4
Section type: Online
Mandatory or Optiona: Mandatory
Number of Questions: 50
Number of Questions to be attempted: 50
Section Marks: 50
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 736815202
Question Shuffling Allowed : Yes

Question Number : 151 Question Id : 7368156819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘Which one of the following words was added to the preamble of Indian Constitution by the
428 amendment?

Options:

1 Integrity

- w Liberty

- w Equality

, w Fraternity

Question Number : 151 Question Id : 7368156819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Feafai@d el § ¥ i @7 429 WU caRT SRAT Jigems &
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Question Number : 152 Question Id : 7368156820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The concept of fundamental rights in Indian Constitution is borrowed from?
Options:
L % Germany

- % Australia
%z % Canada

4 + United states of America

Question Number : 152 Question Id : 7368156820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
ad Bfeua # At 3f9eRt & smuror e o 1

Options:

1_%337-‘551'
z_wm

3 % ReTSl

, v TIF TS HARF

Question Number : 153 Question Id : 7368156821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which article of Indian Constitution deals with ending untouchability?

Options:
1 % Article 45

> % Article 25
3 « Article 17
4 % Article 21

Question Number : 153 Question Id ;: 7368156821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
AT BT 7 FiT A He=og FERIA TATCT § Fafad 82
Options:

l_wyﬂﬁ?%
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Question Number : 154 Question Id ;: 7368156822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who among the following represents India on the International forum?

Options:

1 « President

- % Prime Minister
= % Home Minister

, w Foreign Minister

Question Number : 154 Question Id : 7368156822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

HRTSET BRA W #ART F i wFaterad # T Hie FLar 272
Options:
1pif3{"uﬂ'ﬁﬁ'

5> % T HAT

Question Number : 155 Question Id ;: 7368156823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The “Zero Hour’ in Lok Sabha is generally between?
Options:
1 ¥ 12 noon to 1pm

> % 1pmto Zpm
5 % 3pm to 4pm

4 % 10am to 1lam

Question Number : 155 Question Id : 7368156823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ST F 'IFIFEr (Zero Hour) 3 dR W Faer &=t giam &7

Options:

| v BT 12 &7 ¥ 1:00 8 T
5 % 298t 1:00 =7 ¥ 2:00 §=F d
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Question Number : 156 Question Id : 7368156824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In which vear Karanam Malleswari won Bronze medal in Wrestling at Olympics?

Options:
1 ® 2008

5> & 2000
5 % 1996
4 % 2004

Question Number : 156 Question Id : 7368156824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

F{AH Hooroddl o &g Trer s & Casll H FET 9 Sar oA17?

Options:

1. % 2008
2 « 2000
3. % 1996
4 % 2004

Question Number : 157 Question Id : 7368156825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Jammnalal Bajaj award i1s given for contributions in the field of?

Options:
1 « Science
> # Literature

5 % Sports

4 % Politics

Question Number : 157 Question Id : 7368156825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
STHATATS TS JEFR g &85 7 aFea § e Gar amar 82

Options:

ARG
o % HIged
3 % WA

4 % TS
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Which one of the following award is given for controlling the quality in industries?
Options:

, w Indira Priyadarshini Award
-  Rajiv Gandhi Quality Award
z % J.C.Bose Award

4 % Bharati Samman Award

Question Number : 158 Question 1d : 7368156826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
frrafof@a & & #Fia O [WEFR 3eare 7 uEear & @t &= & v
fear s 872

Options:

& BEE BERE g
, o TS e JoTeedr WERR

Question Number : 159 Question Id : 7368156827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following award is given for promoting Cultural Harmony?

Options:
, % Arjuna Award

- % Dhronacharya Award
= % Tulsidas Award
4  Tagore Award

Question Number : 159 Question Id : 7368156827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

frafof@a 7 & 9 &1 [N TEFiae Had H 9e6T & & forw fear
ST &7

Options:
L
| % 31\::'1;1 gﬂ-ﬂhl'{

z.wii 2 :
3 ® E-: 2
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Question Number : 160 Question Id : 7368156828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following award is given for significant role in wildlife protection?
Options:

, + Rajiv Gandhi Wild Life Conservation Award

- % Salim Ali Award

% # Lal Bahadur Shastri Wild life Conservation Award

4 % Jim Corbett Award

Question Number : 160 Question Id : 7368156828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

frafof@a & & #ia & PR 377 Saa 6T # Ageaqur SfAw &
e T =rar 22

Options:

1_erﬁeﬂmmﬁww

Question Number : 161 Question Id : 7368156829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The author of the book ‘The Hungry Tide’ is?

Options:
1 % Vikram Seth

- % Rohinton Mistry
=z % APJAbdul Kalam
4 « Amitav Ghosh

Question Number : 161 Question Id ;: 7368156829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

iy .
TFF T TS & AEE i 87
Options:

1&3%%@3
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Question Number : 162 Question Id : 7368156830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘An Equal Music’ is the book written by?
Options:

1 « Vikram Seth

> % VS Naipaul

= % Kiran Desai

4 % Arundhati Roy

Question Number : 162 Question Id : 7368156830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
T FFAA FIAF qEaF fhae fordr 22

Options:

, v A T

> % gl TH. ATT9T

waa‘m'é
T 31%‘?-1%1'&

Question Number : 163 Question Id : 7368156831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following is the collection of poems of Sarojini Naidu?

Options:
1 % Gitika Ratna

- % Pancharatnas
=z % Diamond Threshold

4 « Golden Threshold

Question Number : 163 Question Id : 7368156831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
f=faf@a # ¥ #i9 @1 Fog JUTar A3 & Fadrsi &1 T8 82

Options:

1 % TR TeaA
g_wdﬁ
glwmi’}%m
4 v TMosd YeEes
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

The famous book ‘Ratnavali® was written by
Options:
, » Chanakya

> « Harsha Vardhana
- w Kautilya

4 % Amara Sinha

Question Number : 164 Question 1d : 7368156832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
e TEEE T F awE Fi 82

Options:
1. #% "UTag

z.vmﬁﬁ
3_$ﬁﬁ?€f
4 #® Mﬁm

Question Number : 165 Question Id : 7368156833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘Gita Govinda’ is written by?
Options:

| v Jayadeva

- % Kalidasa

= % Adi Shankara

4 % Ashoka

Question Number : 165 Question Id : 7368156833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Options:

1,9?3_‘5%\?
> % HITeEH
5 % TS R
4 % 37

Question Number : 166 Question Id : 7368156834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
1 « Vallabhi

> % Kapilavastu
=z % Kandahar

4 % Dhauli
Note: For this question, discrepancy isfound in question/answer . Full Marksis being awarded to all candidates.

Question Number : 166 Question Id : 7368156834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

MaA G F FoA TUH 2]
Options:

1 TooIHAT

2_$$ﬁaa:§r

S.WW

4 % ool

Note: For thisquestion, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 167 Question Id ;: 7368156835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
From the following was a famous Indian painter.

Options:
1 % Ravi Shankar

- % Balamurali Krishna
3 « M.F.Hussain
, % Yamini Krishnamurty

Question Number : 167 Question Id : 7368156835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

e § ¥ #i9 v gt adT fEer 27

Options:

1. % MERIETY
, s SO FooT
4w T FEOE

Question Number : 168 Question Id : 7368156836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

1 % Violin

> % Guitar

3 % Tabla

4 « Flute

Question Number : 168 Question Id : 7368156836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ZRwae ok A=t § o #i5g o=hig gy & B aitg 272
Options:
1 ® IraterT
o B ﬁm
3 ® dddl
ST

CT

Question Number : 169 Question Id : 7368156837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which Indian music director is known as ‘Maestro’?
Options:

, « layaraja

> % Bappi Lahiri
=z % A.RRehman
4 % Laxmikant Pyarelal

Question Number : 169 Question Id : 7368156837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
FITT ARST T e 3EE F ¥ H A I 27
Options:

| SEARTST

4 % TIEHHRIT ST

Question Number : 170 Question Id : 7368156838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘Dol Jatra’ (Yaoshang) is the festival celebrated in which of the following State?

Options:
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> # Jharkhand
= % Maharashtra

4  Manipur

Question Number : 170 Question Id : 7368156838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

ST ST (T2ET) TR FiAH TeF H JATIT ST 87
Options:

1. % CIEL

> % BIRES

3 % HeNl g

4 o .:.\:

Question Number : 171 Question Id : 7368156839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The highest Law officer of the state 157

Options:
1. Advocate General

> % High Court Judge

= % Home Minister of State

4 ¥ Secretary General of Law Department

Question Number : 171 Question Id : 7368156839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

i 9
=T & Tafed @l ATAHNT Dl 87
Options:

| FEIIEEAT

5 % F=o FUTATIT & =Irareirer

. » TSI F IE AA
, « FEA e & mgEtE

Question Number : 172 Question Id : 7368156840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which Amendment Act proposed grant of statehood to Delhi?

Options:
1. ¢ 50 Amendment Act
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> % 73™ Amendment Act

= # 40™ Amendment Act

ﬂﬂl

4 % 60" Amendment Act

Note: For this question, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 172 Question Id : 7368156840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

fore Tetus sfRfaTs &7 e & 907 U7 & = & §9 & garad fodr ar?
Options:

1 v 503 Felre HhAfaTs
o % 733 weia AfOfETs
5 % 407 Felrus HrAfaTs
4 % BOF Welted HfAfmTA

Note: For thisquestion, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 173 Question Id : 7368156841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following is called Permanent House as it can never be fully dissolved?

Options:
1 % Lok Sabha
5 of Rajya Sabha

- w State Assembly

4 % Election commission

Question Number : 173 Question 1d : 7368156841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

f=fof@a # & &9 @1 Tl @ FE A g, Fhie 37 I W T HT
el fohaT 3T ghar?

Options:

| % oAeRgeT

o> o OHAT

g_wmﬁ"&ﬂ?ﬂ'ﬂ

4%?153!13'%

Question Number : 174 Question Id : 7368156842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who appoints the Chief Election Commissioner of India?

Options:
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> % Chief Justice of India

%z % Parliament

4 % Vice-President

Question Number : 174 Question Id : 7368156842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
qT #rgyga'?§ﬂﬁ5:HWﬂﬂ?fEﬁ'ﬁ#ﬁ'fﬁ@yﬁa'aﬁ?w 22

Options:

| 3eTeET

58 anra‘%:;g@a';:waﬁﬂﬂr
s % UG

4 % 39 Tsgafa

Question Number : 175 Question Id : 7368156843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In which year first ever General Elections were held in India?

Options:
1 % 1949

> % 1948
o W 1947
4 o 1952

Question Number : 175 Question Id : 7368156843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

IR H Igell I ThT TTel HH TATT 1 A=A Bhar a1ar ar?

Options:

| % 1949
> % 1948
2 x 1947
4 v 1952

Question Number : 176 Question Id : 7368156844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Alkash missile was successfully test fired at which place in January 20167

Options:
, % Jodhpur. Rajasthan

5 % Sriharikota, Andhra Pradesh
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4 + Chandipur. Odisha

Question Number : 176 Question Id : 7368156844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
STadr 2016 H e TRAAS T Hhoar @ THETr FEl faRar Tar ar?

Options:

Question Number : 177 Question 1d : 7368156845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who is the present President of Board of Control for Cricket in India?

Options:

1 % Srinivasan

> % Lalit Modi

= « Shashank Manohar
4 % Ravi Shastri

Question Number : 177 Question Id : 7368156845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
AT e Farer S12 & IIAT 3eUsT HidT 27

Options:

B ICCIC
o % olfeld AT
5 v WATH TAEL
4_&31'%?1'%_'—11'

Question Number : 178 Question 1d : 7368156846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following Indian Universities completed 100 years on February 13% 20162
Options:

, « Banaras Hindu University
o % Aligarh Muslim University

- % Osmania University
' visit this website studytosuccess.in
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Question Number : 178 Question Id : 7368156846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
13 wEadr 2016 &1 forw R freafeezmersr & 100 av ¥ &y &2

Options:

| » ARF fgg fAeafacare
58 3elTe HiteH freafagarea
. » SEATST Feafagareg

, » Tgoolr faeafagame

Question Number : 179 Question Id : 7368156847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

‘Who is the founder of AAM AADMI Party?
Options:

1 % Nitish Kumar

o  Arvind Kejriwal
= % Anna Hazare

4 % Kiran Bedi

Question Number : 179 Question Id : 7368156847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

HTH ACHT 9Ef & TEATTF Hid 87

Options:
| w ST FAR

o 3TEE FALE
2 % Ieell &R
I W a'(fl'

Question Number : 180 Question Id ;: 7368156848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which country will be hosting Under-17 FIFA World Cup in 20177
Options:

1« India

5 % Germany

- % Spain

4 % Brazil
visit this website studytosuccess.in



Join Telegram More Update Note: All previous year Exam paper provides
Question Number : 180 Question Id : 7368156848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

I 2017 H H=T-17 BFT 29 &9 F7 ST FiT TT S0 FLEM?
Options:
1_p-\~f HANLA

o #% FHA
3 % T
4_b$m

Question Number : 181 Question Id : 7368156849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Under which five year plan was Rourkela Steel Plant founded?

Options:
1 % First

> « Second
5 % Third

4 % Fourth

Question Number : 181 Question Id : 7368156849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

g gaedtT TS F g9 U3l TS 9T i TTgar gé‘ of?

Options:

1_@3‘-'43?51'

z.wq‘qﬁ
3.33??@
4 % Y

Question Number : 182 Question Id : 7368156850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘What kind of economy is adopted by India?
Options:

1 v Mixed Economy

- % Socialist Economy

- % Gandhian Economy

4 % Free Economy

Question Number : 182 Question Id : 7368156850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:
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Question Number : 183 Question 1d : 7368156851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Imperial Bank of India after nationalization became

Options:
1 % Canara Bank

> % Oriental Bank of Cominerce
5 « State Bank of India
4 % Bank of India

Question Number : 183 Question Id : 7368156851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TSETHIOT F a2 SN 36 316 5f2am FHia @1 o 7
Options:

= o 4

> % HNTeA dF HF FHAY

5 v HRET T 3%

| &% s 2

Question Number : 184 Question Id : 7368156852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which one of the following tax is not levied by the Central Government?

Options:

1 « Professional tax
> % Wealth Tax

= % Income Tax

, % Excise duty

Question Number : 184 Question Id ;: 7368156852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

F=ofEa & o #i9 @ F7 =5 TR I A40 ST AT 87
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Question Number : 185 Question Id : 7368156853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following State is the poorest in India according to Economic Survey?

Options:

, » Punjab

- % Maharashtra
= % Karnataka

4 « QOdisha

Question Number : 185 Question Id : 7368156853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

e wEa0r & Hqer AEARf@a & @ Fi9 a1 757 89ng F7 gey
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Options:

1% i)
> #% Helll g
3 R FATCH
4 v IS

Question Number : 186 Question Id : 7368156854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The international airport of Nagpur is named after

Options:
1 « B. R. Ambedkar

- % Rajiv Gandhi
3 % Indira Gandhi
, % Chaudhary Charan Singh

Question Number : 186 Question Id : 7368156854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ARTR & HAWET ga1% H33 & A7 fohdeh a7 o @ 872
Options:
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Question Number : 187 Question Id : 7368156855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which one of the following is not the cropping season in India?

Options:

1 % Zaid
> % Rabi
z % Kharif

4 +« Hudhudh

Question Number : 187 Question Id : 7368156855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

9T # A@g #§ ¥ #i9 o1 #9750 JEH 738 22

Options:

| % BHGET (Zaid)
- % T&r (Rabi)
5 % @U® (Kharif)

, » 5% (Hudhudh)

Question Number : 188 Question Id : 7368156856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The full form of ICAR. a research center in India is?
Options:

, « Indian Council of Agricultural Research

> % Indian Council of Aviation Research

- % Indian Cultivation and Agriculture Research

4 % Indian Council of Agronomy Research

Question Number : 188 Question Id : 7368156856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

XA H o g ISHTHR (ICAR) & G A1H T 87

Options:

| ARSI Y 3@1@% qiiwg (Indian Council of Agricultural Research)
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it (Indian Council ot Aviation Research)

ik AT TAr A F¥ 3gHa (Indian Cultivation and Agriculture Research)

4% AT %ﬁ‘ EEIG Bﬂagd-itnﬁ (Indian Council of Agronomy Research)

Question Number : 189 Question Id : 7368156857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which Indian state is not a part of the ‘Seven Sisters’?
Options:

. Manipur

5 % West Bengal

- % Nagaland

4 % Sikkim

Note: For thisquestion, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 189 Question Id : 7368156857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
FiT AT AT T=T 'BIF 941 (Seven Sisters) &7 FEar 781 272

Options:

1.+ ToTg

-

o % UfIEH 9T
3_33?4?'31?}'?
4.33%%

Note: For thisquestion, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 190 Question Id : 7368156858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The famous monmumnent ‘Gol Gumbaz’ is located in?
Options:

1 + Karnataka

> # Uttar Pradesh
= % Maharashtra

4 % Madhya Pradesh

Question Number : 190 Question Id : 7368156858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
ITEE AN TN FaeT FEl W T 7

Options:

1|« THelldHh
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Question Number : 191 Question Id : 7368156859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Who among the following shifted the capital from Calcutta to Delhi?
Options:

,  Lord Hardinge
- % Lord Dalhousie

5 w Lord Canning

4 % Lord Curzon

Question Number : 191 Question Id : 7368156859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

=@a 7 ¥ g T9UEr & Fascal § Tear TUEEaRg &ar ar?

Options:
L e gifeeT
o % WIS SeEle
3 % OIS hieieT
4 % TS FaAe

Question Number : 192 Question Id ;: 7368156860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Quit India’ movement was started in the year?

Options:
; % 1928

o R 1937
3 o 1942
4 % 1940

Question Number : 192 Question Id : 7368156860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

AR OIS Hicred fha | 3 F g3 A4
Options:

1 % 1928

> % 1937

=z « 1942
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Question Number : 193 Question Id : 7368156861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Who started the ‘Home Rule’ Movement?
Options:

, » Gopal Krishna Gokhale

-~ % DBhagat Singh
- » Lokmanya Tilak

4 « Annie Besant

Question Number : 193 Question Id : 7368156861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

'L e fhaa Tw f&ar ar?

Options:

Hgvﬁrqﬁr%mﬂmﬁr

o % HId 33
L [ ™
5 % CllehHAled [doleh

4_#@3’@?

Question Number : 194 Question Id : 7368156862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who defeated Humayun in the battle of Kannauj?

Options:
, % Jahangir

> % Alkbar
3 « Sher Shah Suri
4 % Sikander Shah

Question Number : 194 Question Id : 7368156862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Feetler 1 TS 3 A W Rewe g O
Options:

| % SRR

o % Jehd{

s I oME J

4 % TO&eel oME
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Question Number : 195 Question Id : 7368156863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Taj Mahal was built in the memory of?

Options:

, w» Gulbadan Begum

5 of Mumtaz Begum
5 % Noorjahan Begum

, % Padshah Begum

Question Number : 195 Question Id : 7368156863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A [ehdehr I H FATAT AT AT?
Options:

| w oECs A

=]

. o TFAS SITH

. » TLSTEI 99TA

o,

4 % TSIAE qTH

Question Number : 196 Question Id : 7368156864 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
With which of the following games is the term ‘ace” associated?

Options:

1 % Foot ball

> % Cricket

3 « Lawn Tennis

4 = Rugby

Question Number : 196 Question Id : 7368156864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
TH' (ace) amﬁmﬁﬁa@ﬁrﬁﬁmmﬁgm%?

Options:
® el

1 3

E_Sﬁm
g_ﬁ?ﬁﬂ'm
4 % T@ET
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

‘(Corbillon Cup)’ is associated with which of the following game?
Options:

1 « Table Tennis

- % Lawn Tennis

5 % Hockey

4 % Badminton

Question Number : 197 Question Id : 7368156865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘FIfEea T (Corbillon Cup) f&FF W & |rer 33 g3 g7

Options:

| TH ol
o % WA AT
S.ﬁ%ﬁ%ﬁ'

4 % §3ffeT

Question Number : 198 Question Id : 7368156866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who among the following has never been a captain for Indian cricket team?

Options:
, « Navjoth Singh Sidhu
> % Mansoor Ali Khan Pataudi

- % Kapil Dev

4 % Azharuddin

Question Number : 198 Question Id ;: 7368156866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

g ¥ ¥ Fi9 9dT e A7 w7 FoaeT Ful a6 @

Options:

| v TE=T fiE fag

, » F 3 T A
= % HAT d

4 % 3AgTeId

Question Number : 199 Question Id : 7368156867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25 visit this website studytosuccess.in
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Options:
1 « Guita Jwala

5 % Mary Kom

= % K. Malleshwari
4 % Abhinav Bindra

Question Number : 199 Question Id : 7368156867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

fT=ofaT 7§ ¥ 9 3iefs 9o T=ar 73 82
Options:

1, W pl R

gwﬁffﬂfﬁﬂ'
4 » AT Sar

Question Number : 200 Question Id : 7368156868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Where was 2014 Hockey world cup held?

Options:
1 % India

> « Netherlands

- » England

4 % Switzerland

Question Number : 200 Question Id : 7368156868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

2014 gidhr Feg &9 Far g rar 73 am?
Options:
| % HRA

2. v ;ﬁm
5 % $CiS
4 ® FEEEIEE

£
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